Question Booklet No.

Question Booklet Code SLRC_2 02 2

B Paper : II

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall,

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examinationn Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be

assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, 1.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark agaimnst each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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1. “faeal SR e GG e e 2
(A) 22 FEERIE [GHT A ES 9F 151 |
(B) 2 (=z I Wise1ed @bl #[Feq %% |
(C) 3Tae fT=siud MMTe O F 27 |
(D) 3Tz Neie foenfae 9 e sr==en|
1. T S & Sf@h “edl s ey ?

A) <5 FFCRIT @ a aFH =24 |
(B) @5 I 2R 9T @F D “FS=147 |

(C) «f fozsrwa s @b 27 |

(D) @ SHeits (&= @F0 FAETT ST |
1. TITEETE BAE 59 aYTE TSR ST 7

(A) o TR Faent+ a9 AR

(B) Tsai =l stmamta 8 gemiE’

(C) T Tesme @t ama fae

(D) Ta=1 AiwTE Tt = fatem=m 1 93 et (Wildlife Sanctuary)
1. freAfdfEadasA@ a0 s andads 7

(A) T HEHUAR Fae1 4 v 8 2 |

(B) 2 HTE FAFTAF H Ush Tod {IET 2 |

(C) Fefgmes Ta s Az |

(D) Fg ArmTa et 3 ush F=rsia 319anng 2 |
1.  Which of the following is true about Pobitora ?

(A) Itisatown in Kokrajhar district.

(B) It is a mountain peak in Karbi Anglong.

(C) Itis alake near Dibrugarh.

(D) It is a wildlife sanctuary in Morigaon district.

2. fryfef<rs weom s (@R @AEhE NS ?

() U 2 O (B) =izl wie
(C) TR OTg (D) FfeRTSERI oTg

EE
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2. forcw Statae o orgl wxreia Tt ?

(A) P S T (B) *[Zsh oTg
(C) “FRARE OTg (D) TERTSNA GTg
2. TTEEME EFE F8 AT AR @A ?
(A) g EITEHT &Y (B) wEwR gl
(C) TR &g (D) HieEm™T &g
2. frAfdfEa i asRa @TaEd & a2 ?
(A) YU BAMEH 99 (B) IRI=ETE IA
(C) TEWET &g (D) HieEAMM &g
2. Which of the following bridges is near Guwahati ?
(A) Bhupen Hazarika Setu (B) Saraighat Bridge
(C) Naranarayan Setu (D) Koliabhomora Setu

3. fraieae SR ARbE e Tee feeqe (@4 SihiRees «[af ?

(A) T =@ ReE (B) W= f9R5R

(C) =5 fEGE (D) SEned FPRGR
3. o Sratrema wu (@i AteN i 2R EE e 2

(A) Tl aRGE (B) @@= oReE

(C) 5% @b (D) Sentadl IRGE
3. TITEMEE BAE F8 FIGU SEaEtasT sa-gssl Tsmad ?

(A) =iER IR (B) FTETEA fUTer

(C) Feusfuaer (D) wTECE fUFer
3. foAfeed @ =1 o1 AmEmse {9 (Y= 99 996 T2 7

(A) HiEg iy (B) rmETEd fUuen

(C) e faus (D) e faue

3. Which one amongst the following mobile theatre (Bhryamyaman) groups is
the oldest ?

(A) Kohinoor Theatre (B) Awahon Theatre
(C) Natraj Theatre (D) Bhagyadevi Theatre

==
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S T SR (] FHSH (P IR Faree 2

(A) T 2P SeEarET
(C) fareeriv s

T Y (NI AT 7 Q9 F oI PR ?

(A) TN ie[Ex =

(C) Tapeniv are

“FT AR AT 1 T4 IR A1 AR 7
(A) =HHAAT GG HFILATA

(C) farsoy srarme T

oy 31 ST SITIATC B A A ot 2

(A) FHHA TG SFTETAT
(C) T e T

(B) @EEFIY (@EIFA|
(D) ~IRRS 2% Tl

(B) wrEme (R
(D) &Sl e ==

(B) < EHHY SSEE3T
(D) TTE TATE TEAT

(B) wAEHA™ Sl
(D) TTEE THTE FEAT

Who composed the tune “O’ Mor Apunar Desh” ?

(A) Kamala Prasad Agarwalla
(C) Bishnu Prasad Rabha

(B) Laxminath Bezbaruah
(D) Parvati Prasad Baruah

SR Y@K N CZD
(A) 2T

(©) T

AT @ 2o

(A) =&

(C) &

EIRIE ERVCIC I ke i
(A) FFH

(©) Tem
BRIk AL

(A) FHAH

(C) Tfem

The currency of Japan is

(A) Yuan
(C) Dollar

(B) 2@+
(D) g+

(B) TR
(D) I

(B) =
(D) =&

B) T4
(D) ==

(B) Yen
(D) Ruble
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TG BT A 2N SR @4 S 207

(A) Wixfel oW Cali=iR (B) ®W TT &£

(C) Srameie <3R1 (D) ™ PN THORY
2o SRR (F74F 3 WA 724 cofemem

(A) e =N SRSt (B) ®=wAE IU

(C) Samelie <ZSR1 (D) Fitam FNE oo
TS I A Sy st et s

(A) AT TEA TRETH (B) TH &S 9WTST

(C) ez A (D) ot pAR wgmE™
T3 TS ITH i JTo1 T 0 FA 771 oig® o —

(A) HTHEIT T T (B) I o0 YT

(C) 9o 9 IH AT (D) =G FAR HEEE
The first Assamese writer to receive the Jnanpeeth Award was
(A) Mamoni Roisom Goswami (B) Yese Dorje Thongsi
(C) Bhabendra Nath Saikia (D) Birendra Kumar Bhattacharya

1942 T-19 S w9 HWE© IHr Y0 Ferel WiE YT Fiwes SeRE 2wy w4
SEI?’H .\.5?.5 .

(A) e1=2¥S (B) toE¥q

(C) TR (D) wizegfq

1942 97 TS BT HTHEHET WA (B Z( 0% P TPerel QTR (T T o
s I 2ol FeAeE ?

&) o= (B) TEEA

(C) Tofmrgfer (D) wizsy©

3 1942 ARYTA ‘IRA AR AHEARAAETE fafen a1 wmad 31 JH-¢ Hehaa!
TR TTEITAMA ?

&) TER (B) TR

(C) et (D) AR

OF10]
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1942 % WA BIST FATCIeH | T5ifea IFeid 7 Fasheral 31T Gehg HIehdl h TTeil AREHL &l
fFa ARSI 7

(A) TEE (B) T=E
(C) wHEFA (D) FHTEFAL

In 1942 Quit India Movement, the British Police shot dead Kanaklata and
Mukunda Kakati at

(A) Gohpur (B) Tezpur

(C) Dhekiajuli (D) Ahotgur

RIS SAfs e 4 712 17 S99 wm =l T

(&) A B) T

(C) = (D) T

TORRI SR TAS TS, R Q% wEmed 4o Fea of 297
(A) ATt (B) I

(C) 2 D) ==

TTEETE 2FE 99 ACES 8l SIT@ e STaHa 9T 3=q a9 7 1 379 IR E ?
NI IDIE (B) wEgEl

(C) = (D) Ts=E

7 ITeg AT “ STHTHAT 9T 3G auT’ 9 FE @ F 9L |

(A) =e (B) el

(C) =AM (D) fs=m=

The word that would correctly fill the gap in “Oxomiya Bhaxa Unnati
Xobha” 1s

(A) Xadhinm (B) Bohumukhi
(C) Koron (D) Bistaron

A= RO SRR SIS 2% el IR 2 e #1% ToriiEes 2

(A) TS (B) F® T
(C) i@ (D) AN =TT
A< ANRTETT SR S A& AR (F forefeeem 2

(A) TN TES! (B) weT% T
(C) Wiz st (D) ERT ¥FAT

EE
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9.  ITEHT TAHTE FeHIS THET SHEATSAE Adeh U8 TAFEINA TATTHREAT 91 ?

(A) 9 I (B) A= et
(C) A= el (D) THa Ihicd
9. AT FTCHIH THAE FH FFATE HAHTE TAEI [He- (@197 ?
(A) T T (B) 31d Heet
(C) A= el (D) THa Ihicd

9. Who wrote Saptakanda Ramayana, a translation of Valmiki Ramayana in
Assamese ?

(A) Ram Saraswati (B) Ananta Kandali
(C) Madhav Kandali (D) Srimanta Sankardeva

10. SRR SRE 22N SCET] “SREme” T J139 Y€] 25T tawe ?

(A) TwEh (B) MiieE
(C) «TI==FoR! (D) TEFRE
10.  SPRRI S 22N «fal SR T2l (I e aRies ?
(A) TAEEG (B) rmre@
(C) wr=reifbal D) TFTRITE
10, “IEARE" §H A 7are= TEt ARae! ei4w ™ fegdam semE 7
(A) THER B) TomEm
(C) HTezhical (D) HEHTIAN
10. “3TFUMErE” TEe A9 ST 31 AT Ih197d 5 —
(A) FREEH B) fomama
(C) et H (D) HHTIRH
10. “Orunudo1”, the first Assamese language magazine was published from
(A) Jorhat (B) Sibsagar
(C) Naharkatiya (D) Kokrajhar

11. (4R S -T&FS TS GRb S8 EE TR ?

(A) ] (B)
(C) T (D) ==
E5m
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11.

11.

11.

11.

e Srafroma W (@i esiiiog SiaueeE “lex! ar =i 2

(A) S (TR ) (B) fox (@)

(C) T (%) (D) it (Guesie)
TTeE F=371 g 11 T3 Fifgamma (life cycle) 731 7

(4) THIEY (B) fag

(C) «rT (D) THASH
frefafga 8 9 = F faaef & Sfia-a% 7781 2 7

(A) FHedTer (B) 32

(C) =m D) T

Which of the following is not in the life-cycle of a butterfly ?
(A) Caterpillar (B) Eggs

(C) Pupa (D) Tadpole

12.

12.

12.

12.
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JMER AT NCRIIRS #[¢f 1% (7% TARI R SRS AW (@RI (i #11e 31 &2
SRR (A 4 (202 -

A) TemwaIs8m (B) =€l

(C) TR DI SR 2R (D) T.aEaE

SIER TAM6T @2 P (FF SRR TAcE 2= xp Jfel TT 47 s
2R % ?

(A) feters 7o (B) =T

(C) ZTFIRITAE e I 7 (D) T. @&

BT A@YA 511 (National Film Awards) AFA@ fifafaq smataan a@yas11 =@

(A) Toers TR (B) 31

(C) BEAGAITHA TAIHEHE (D) = I==Ea

TP e JERTl H 998 HE e ¥ aeii+d 2 arell Tael s1&f 72 fhen o1 —
(A) oo U™

(B) 31T

(C) FTEHETIRE TREHEHE

(D) ST TATEIAT

=0
]



12. The first Assamese film to be awarded the Best Feature Film at the National
Film Awards was

(A) Village Rockstars

(B) Aranya

(C) Halodhiya Choraye Baodhan Khai
(D) Dr. Bezbarua

13. TGIFe3 TiT S el ewmih waiEe 5[ 020z -

A) feeore (B) wI<=h

(C) feradirsE D) fserier vifeifa
13. TGP OT SR (P (Pl IR 2

a) fezary (B) T2

(C) f=repitsra D) feserier v
13. Zehers Aral fal s w1 581 ¢ 7

&) fers (B) i@

(C) fasamz (D) Ta9a=™ TR
13. AR EE AFHOH T E fEa s a7

&) fems (B) i@

(C) Tormamy (D) Tagsmm =TiEie
13. The Toklai Tea Research Institute is in which city ?

(A) Dibrugarh (B) dJorhat

(C) Sibsagar (D) Bishwanath Chariali

14. SPT QTG T e 2/ I124 (202 :

(A) T*Ema (B) T=iEeNS
(C) fefmsrt (D) TR
14,  SPIN QT (e o S0 -
(A) BEwa (B) JHZAIe
(C) Torfmi (D) AR
14, @AM TIA B FEET A T2 7
(A) T (B) ==HTE
(C) faagisan (D) TTETATHT
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14. 379 1 SHei[d] Ao Thel 39 IMEH & —
(A) Tae=r (B) =AMTETE
(C) Temgfpan (D) e
14. The only Sainik School of Assam is at
(A) Silchar (B) Bongaigaon
(C) Tinsukia (D) Goalpara
15. =P Sifens TR = Sfen S+ < © SH2s ?
(A) TEEYR (B) Sfeas!
(C) @arzbl (D) TR
15. SIPTie A< TRaimT o2/ Shen T (iR SEs ?
(A) TEEYR (B) FfEars
(C) <D (D) TERIET!
15. ATEM 2 JAREN A TR A Fhe1 TTeA3T a7 7
(A) TR (B) TS
(C) AR (D) TETEATR
15. 319 U3 fafeam 98 F+=d g el a2 7
(A) dAT (B) TS
(C) TAEE (D) &R
15. Where 1s the Assam State Zoo cum Botanical Garden located ?
(A) Tezpur (B) Kaziranga
(C) Guwahati (D) Goalpara
16. TTRSored (@G 22 %fF o gz=ifed Mee g 9 ?
(A) Y@ (B) Wz
(C) D) T
16. Thagsired €a & 236 %S @R Jzifea sy o ?
(A) Y55 (B) W&
(C) D) T
16. SR I 59 T8 371 g89 3T 883 d Tl 71500 ?
(A) "B (B) FH Uz
(C) wi=uz (D) FaUE
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16. ERASH H1 M 91 T8 Tl R Feeia % o4 a2 ?

&) e B) TF
(C) w4 D) T
16. Which planet of the solar system lies between Earth and Jupiter ?
(A) Mars (B) Venus
(C) Saturn (D) Mercury

17. T 590 @R o Grer AoiF T Free ?

(A) TNIZT AT ST B) fHgaret cozm

(C) Tafeiazy (D) I TFT
17. SIS GTOR Ao 1S (F LA G 2

(A) TH=TT FACM SRl (B) e ez

(C) TEfe =2y (D) I TP
17. 9T giEi i remg 91 98t aAEaEE ?

(A) TrEdeE HHEEe T (B) fredt aepzn

(C) =i g (D) 5™ 3
17. 9THA % UYHE e &1 e feamsa fan 7

(A) HTEEE FEEE T (B) Tareft S

(C) =R Mg (D) W™ IR

17. Who designed the National Flag of India ?
(A) Mohandas Karamchand Gandhi (B) Pingali Venkayya
(C) Sarojimi Naidu (D) Rabindranath Tagore

18. T S SINF4® (i el (g Sr@rs coimr AR ?

(A) TS6IFE 0 (B) T<GitE

(C) febffmfa (D) febife fo
18. T O3 ST (& TS5 MBS Tow ?

A) febffm C (B) febifae K

(C) TG B (D) T<5i D
18. 1§ R AHATEHTE 9 faeia=n 9/ ¢

A) faeimc (B) fwfEK

(C) foermaB (D) faefa=a D

OF10]
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18. e 3 srtaen 7 ®H a1 faeisq yg@ &1 3 73 e g 7
(A) faefmaC (B) faafm K
(C) feeiaa B (D) faaf® D
18. Which vitamin is prominently present in lemon and Amla ?
(A) Vitamin C (B) Vitamin K
(C) Vitamin B (D) Vitamin D
19. SRSR WHEIR L[ 52w Y2IFTIRT (e ifes 2
(A) o B) oo @
(C) FE=IvIes! (D) FE=ITITH!
19. (T SITSR TGS N2 @2 Neiee! farfarew 2
(A) foaer% (B) T
(C) FEITIeH (D) T AT
19. SFEHEEME 9HE YA Fieraq FAEAH1 IR ?
(A) T (B) THwm=dl
(C) wHeTITEeA (D) eI FFEAT
19. 37afer § I FTell 99T Y™ ga &1 afget &iE o 2
(A) T (B) fwr=m
(C) wHeATIEA (D) eI FFEAT
19. Who was the first Indian born woman to go to space ?
(A) Kiran Shaw (B) Kiran Bedi
(C) Kalpana Chawla (D) Kalpana Saxena
20. WHSIG RIEETD PR f55e w=Es ?
(A) TAERD (B) w_zH
(C) fF=rieer (D) «61€
20. TWHISMG I (PR (TR HAED 2
(A) TAlEID (B) @2
(C) fF=rieer (D) =eits
20. FATCITE FhEAR 7« femamE g 2
(A) TTEETR (B) e
(C) e AT (D) i
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20.

20.

TS frbred fra faor a fra 2 ¢
(A) TTAETE
(C) Tl FTFTAR

(B)
D)

EUNC

In which district 1s the Numaligarh Refinery located ?

(A) Golaghat (B) Jorhat

(C) Karbi Anglong (D) Nagaon
21. FAGT AU N 5 2

&) TR (B) <t

(C) TTIEA (D) TAGT
21. IMTCST AR I 2

(A) TRAF B) it

(C) wEm (D) TGS
21. FEEF TFATE AT R 7

(A) TR B) T

(0) EEued (D) T
21. IMESHI TTHHI FTZ ?

(A) TH (B) T

(C) G&ued (D) TTems
21. What is the capital of Jharkhand ?

(A) Raipur (B) Ranchi

(C) Dehradun (D) Gangtok
22. ST OIFIF (w3 S ST 139 (20 -

(A) TmETl (B) TIES

(C) W (D) <zIfey
22. SRACSA @ EEA 7 GIE 4 RIS -

(A) IBT (B) TR

(C) =TT (D) <R
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22. TTEEE BHE ST 8 JETET A1 ol ATed1 g 7
(&) et (B) 1M
(C) FHoET (D) HTeTETE!
22, YRAAAH FIEH A JST UM 2 —
(&) g (B) M
(C) FAFHea (D) FTTEE
22. The place associated with gold mine in India is
(A) Jaduguda (B) Kolar
(C) Ankleshwar (D) Kalahandi
23. TR J13T SRCS T 2IN06! AR S Wi zeg Aapse Faree ?
(A) Jl=icz_ B) aTH
(C) <! (D) TAERE
23. TN FCT SIS 22N AR ST s TR ?
(A) IEFCIE (B) T
(C) Efaesin! (D) TAEER
23. A & AFTEE FIistas TAFses (Nuclear) TP 3THSE AGHEH ?
(A) SR (B) zw
(C) Tl (D) TEIM
23. WA A 3T Taol THTY ITHTI 1 FIE F7d == TiwangT 2
(&) AT (B) zr=
(C) Href@nrer (D) T
23. In which place did India test its first nuclear device ?
(A) Balasore (B) Trombay
(C) Sriharikota (D) Pokhran
24. G (@05 [YG0F Y2-7Z TRH6A 3G g [ 2
A) 20 9% (B) 32 %
(C) 22 4% (D) 25 afe
24, 93 &G 0 12 ea TH%a WU<s! 2 ag S 2
A) 20 9% (B) 32 %
(C) 229 (D) 25 9%
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24. 9 forere Taeasma 4 fashel A e STRuTes 99 7

(A) 20 FEH (B) 32 7Ed
(C) 227TEH (D) 25 aTEH
24. i afardisgadisdaFIghang ?
(A) 20Ts (B) 327H
(C) 2274 (D) 2574
24. What is the distance between the two sets of wickets on a cricket pitch ?
(A) 20 yards (B) 32 yards
(C) 22 yvyards (D) 25 yards
25. 2022 T3 @& ¥ ¢+ et oo «F3 T2aR *H4Ie (@i xare Feize ?
(A) IR FORE (B) wEMzltYe
(C) T EF e (D) ICFEATE

25. 2022 I T ST YA QT (TSIT5] (F SRS A2 2
(A) TEE AR
(B) TG P

(C) G sealies
(D) AFEFATMAE
25. g HATA 2022 FTE EETHAA 2R F- 2R F FeEA@TEE 91 c@@d SEHE ?

(A) TS BT (B) =HEME faara =
(C) mEmh Amniad (D) THe IS

25. ToHaaTRa 34 2022 H T69 U ST 7

(A) U BT (B) =wHME feafeaa
(C) FmEmh JAied (D) The IS

25. Who won the Men’s Singles at French Open 2022 ?
(A) Roger Federer (B) Stefanos Tsitsipas
(C) Novak Djokovic (D) Rafael Nadal

EE
SLRC-2022/P-1I/B 19 25



26.

26.

26.

26.

26.

A7 aifroE ARATaIATE 529 A SIETs 2

(A)  ff2d = SRR NS 1S e

(B) 133 W feriael

(C) W {age g YW K1 >

(D) F&3 e o=

A1 siferoes fHeenant @ & e -

(A) 29 Q32 TR W 7T

(B) “2<aawm

(C) G0 SNCFlel fqered argd Wy sF1S

(D) % oA CEgTH

ek ARG TRATR] T8 Va1 TT8ETE 2HE 5614 IR THa = 7
(A) FEH FAR FEA TS THITS

(B) mEfawem

(C) @AY ARG ARG TRIBRA TS0 9= AR
(D) =@ FAFAA

e egrE s fauam a2 |

@) P s o g

(B) TEHAR

(C) U FaI Y 1 Y131 & s 19 9o

(D) T I H1 &EHA

Greek Mathematician Pythagoras 1s known for

(A) Distance between Earth and Sun

(B) Value of P1

(C) Relationship between the sides of a Right angled triangle
(D) Area of a circle

27.

T3S T 2T (RS T E SOH19R CI0S &oS ?

(A) T TFDTATEN 2 (B) W TIRATE
(C) TTBS @ oo (D) T &Eree
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27. Ty Sraivre W S vae @ Hiead (e 3 1g) s1ier srrifhe 2
(A) ARG (B) FGIEATH
(C) THHF T (D) < TE
27. TTEEA 8 BRATEN AT ST A1 AT € 7
(&) FHITCHH (B) FTFRATHE
(C) T Hieead (D) HE EBETA
27. foAfaRega # 9% F 91 FER fhea 3gEm A 9sad 2 7
(A) FHIHHN (B) HAETHE
(C) Fe=Ts Hieead (D) A A=
27. Which of the following festivals is related to the film industry ?
(A) Rouketopolemos (B) Octoberfest
(C) Woodstock festival (D) Cannes festival
28. W S WA S (HARE W[ 2 T 9126 @il = ?

28.

28.

28.

28.

(A) TFHATN B) =R

(C) T (D) =29
SWICAE 410 (Rl [0 T SIS ICad Sy 9/#191% (A9t 2& 2T ?
(A)  FERE B) e

(C) wf&™ D) R

U ISR T AT E & AEATA TGl JHET 7

(A) Hfeaa (B) FHEN

(C) Arfeaq (D) FIEHE

HE1 EAN 9T | faefafgd 9 9 fhash w5 % R a2 ¢

(A)  hfcad (B) ETEH

(C) @femm (D) e

Goitre 1s caused due to the lack of which of the following in our food ?
(A) Calcium (B) Iodine

(C) Sodium (D) Iron

OF10]
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29, O] NCFFRA (1o 71 15 =iifes 2
(A) FieTeTiel NI (B) T2l NComIpIa
(C) Tatom N (D) WaePm TP
29. S| YA (1] (B f2rew 2
(A) TR ST (B) TReTI2 N3
(C) ToTom T (D) WM™ TeHFa
29. A1 FIIHA FAHET ARAM 7
(A) EHM TR (B) AT WITEHT
(C) Toag mmE (D) AT J\TE W9
29. A1 HIHLH TATHEY ?
(A) THEEY TR (B) ECIATY WITHT
(C) idg W9t (D) =it TETg FIHT
29. Who was the father of Lata Mangeshkar ?
(A) Dinanath Mangeshkar (B) Hridoynath Mangeshkar
(C) Jitendra Mangeshkar (D) Mani Prasad Mangeshkar
30. 2022 U9 1 ST O S Sl J@<1ga q1g+ife (i 2
(A) @ T (B) QR =N
(C) TFRS Gri D) & e
30. 2022 %A 1=t FRRIACS Wi qFA0ET A2 & 2w 2
(A) T fE (B) I S
(C) TTMFEE G (D) TE! AlETT
30. 1st January, 2022 B @R, FAT3CE T2d F AN S0 T AR 7
(A) faa1 fFeeq (B) o ATEME
(C) =z (D) i ATEE
30. 1 S, 2022 1 9 UF AR TPAAHE S 7
(A) faa1 fFereq (B) o= ATEME
(C) eMEE M (D) e

EE
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30. As on 1=t of January, 2022, who is the President of the United States of
America ?
(A) Bill Clinton (B) Barack Obama
(C) Donald Trump (D) Joe Biden
31. JF IEHFETS 9K Tiel Fq1 Cefw |
(&) =efvre FEORE (B) =sms fifez
(C) ZHsfre e gz (D) =sft7e ews iRz
31. w3 fafie axfes F@ aEcea SwwFE ?
(A) Zsfre @iz (B) =sfore #a ez
(C) ZHsfore anes@ Pr2 (D) =sfre eFg PrRZ
31. WWE AR USG9 4E G AGHA ?
(&) w3 ws far (B) wwies fom faz
(0) wiee T fam (D) weg s fae
31. FEHIFAM % IMEFAH 4 8ATYT |
(&) wFies &g far (B) wwiesfomfaz
(C) w3 e fas (D) w3 vmw fa8
31. The Rang Ghar was constructed during the reign of
(A) Swargadeo Rudra Singha (B) Swargadeo Shiva Singha
(C) Swargadeo Rajeshwar Singha (D) Swargadeo Pramatta Singha
32. PN NeH| [l amier (i OIS SEZs ?
(A) Te=prieE (B) fz=ew
(C) Tzl D) TR
32. HPTIGY N Fmfamer @R Sz ?
A) e B) fo=ry
(C) w==h (D) =N
32. 3T TS TAHATAHTAIT FET G ?
&) femamm B) ez
(C) wrEr (D) TREAR
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32. 3ran Afgen favatsaer Hal a2 ¢
(A) o (B) TesrTs
(C) SRR (D) FEHR
32. Where is Assam Women’s University located ?
(A) Sibsagar (B) Dibrugarh
(C) Jorhat (D) Lakhimpur
33. HRNYF SIBAT ST OTS (@2 IETF SRS FIACR ?
(A) TR (B) ST U
(C) e (D) o
33. JENA @ ASHHCE ST 0o 7RIS FA AR 2
(A) TR (B) S@ITa 20
(C) e (D) 5w
33. AT SEHE §9 TSAA FCET 7
(A) T (B) HAEIEHA A
(C) =R (D) @HTE ST
33. HTAR fFa T2 F1 3799 F Arear 2 7
(&) TETHE (B) SIEIEISA Tem
(C) #ATH (D) = =T
33. Which state does Srirampur connect with Assam ?
(A) Meghalaya (B) Arunachal Pradesh
(C) Manipur (D) West Bengal
34. frafef«s w4 vaae HakR 71 =itz ?
(A) Tl (B) T @l
(C) JFfermet (D) o=
34, o0 TA4© (PR #1720 T I9d (2 ?
(A) T (B) e fogdl
(C) (el (D) TEHE
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34. TTEEME 2HE 94 AFHET AT §=eL € 7

(&) HEE (B) TiTeH feed

(C) hIeThTAT D) TS
34. feAfafea @ 3 fea et d v aggt 9emE 2 7

(A) HEH B) & feeeh

(C) HIeTehTdl (D) A

34. Which of the following city has a sea port ?
(A) Cochin (B) New Delhi
(C) Kolkata (D) Bhopal

35. SRFE ST ATF A F SO LN Q2TED Fi ifw ?

A) f=iw (B) =resiml ICHIER
(C) TI1Fa SO (D) TONsHE Il

35. SIPT CATF 22l (i FIola SRR A HTE M Gx IR 2
(A) faiwe (B) =resml AR
(C) TP SO (D) TSI TR

35. <Al HATAMEIH ToHE SEEAAEAEE JTEHE ™ ARG 3a1 911 Hed caHEEE G337
R ?
(A) TemzE (B) oI STATTETS
(C) ferpivzE™ (D) SR FE=A

35. UTSHhTela 3Te T T e Sa-aTel 3799 % T8l TIeid HH 2 ?
A) femem (B) AT SRR
(C) MRt TgETsH (D) HFTIE T

35. Who 1s the first athlete from Assam to win a medal in the Summer
Olympics ?

(A) Hima Das (B) Lovlina Bargohain
(C) Dipankar Bhattacharjee (D) Bhogeswar Baruah

OF10]
SLRC-2022/P-1/B 25 2% pT.O.



36. PN TIFEA W G2 FPFR O] YT o0 T SOFAF AW i
“f<foe |
(A)  SFCER (B) f=dl
(C) =i (D) w=FH©
36. SIPIN FASIAT OTA! ZFCER 0o SPAFo T Arer Siaeieae! e F 1 31t 2
(&) SR ®)
(C) A= (D) wFwe!
36. FEM IR B-GHE R fafsum aeyfes™ aEEE sEEEEE! . BFEE
fafersman |
(A) FAEAEE (B) =gHT
(C) =Y (D) FrEyd
36. 31T ATHR 1 Y- TR Fa1 Fa13T1 31 A1 o1 JATRAT HE] Faal €1 F FHT A1l 8 —
(A) TS (B) =guT
(C) 9y (D) FFIl
36. The streamlining of Land Revenue related services scheme of the
Government of Assam 1is better known as :
(A) Arunudoi (B) Basundhara
(C) Sarothi (D) Arundhata
37. EWE *HAA Sl 2R < (O AT 5T FT5! 15 7 &S 2
(A) =EFRIA6 (B) Al
(C) = (D) =R
37. NS *FAEH A Sl 27 28] 9P A6 GBS A A5 ?
(A) =SRIAH (B) el
(C) sl (D) @R
37. A= YeRicaS| BEE T AFY T8 (SR YREgeE | 71 arFH (YA ¢
(A) FfFFTE (B) F&H
(C) @HmRMm (D) ¥=EH

EE
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37. 4199 IhTcd g ARIE fhU T UhTeh] 912 HTET F1 2 7
(A) FFAT (B) I
(C) FHm (D) T

37. What is the form of the One Act Play, made popular by Srimanta Sankardev
known as ?

(A) Ankiya Nat (B) Yakshagana

(C) Tamasha (D) Bhramyaman

38. TTA=¥S P (TR A ST S ES ?

(A) TYIRI > (B) 01 AE
(C) ¥E~Ta (D) w27
38. Ty Sraf«s saefem Ney @M A owacs wazs 2
(A) =R >F (B) @A 7@
(C) a4 (D) =2 >q
38. TN FTAATE YTHE T GIATHAT 7
(A) =T (B) i@
(©) T D) HEw
38. Tt 7 9 %M 91 o0 H8q & 4 f2ra 2 7
(A) IR (B) G
(©) TR D) T
38. Which among the following Satras is situated in West Bengal ?
(A) Chamaria Satra (B) Baradi Satra
(C) Madhupur Satra (D) Jakai Satra

39. SO TS TG TA (FRIH] S R 2

(A) 79 1l A=5aCe (B) if*oxa a1 a1

(C) Ta== 7 AfEseta] (D) W “[i Twaa
39. PN T=[@ oA 4 (@ e e[ifee =& 2

(A)  #9 Calt “I*6TN (B) 6N (2T [t

(C) T& (AP A (D) W (2T TG

OF10]
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39. FEME go] §UI AT 79 (@1 AT ¢

(A) FARSTAHTE FETEY (B) AFTETHTE FHESY

(C) FRTHHE G (D) Tl A
39. wEE ¢ saq A fwafen d aadi 2 2

(A) TEHIHT (B) THATTH

(C) I A fam (D) of&m & 3w
39. Which direction does the river Brahmaputra flow in Assam ?

(A) Eastto West (B) West to East

(C) North to South (D) South to North
40, SEEIR SN ST R ST [0 212 {7 (i =12 2

(A) . I (B) =W Il

(C) W) FGE (D) SRTEN (O T T
40. PR e SRR’ T @R AT (e 2

(A) TSR FrE (B) T=NTH 3=

(C) wfereE e (D) SRTEAN (O R ]
40, 3rAEE AR AREARE 9 FiEtas g s arEE ¢

(A) T ATEREA (B) AT FEAl

(C) FATAR FHH (D) FAHCTH FHATA BhA
40. 3TEEET AT SEEE % GUH FEH HH Y 7

(A) T TR ETH (B) &9=g &4l

(C) IATARFH (D) FAHEE SHATA T
40. Who was the first Editor of the Assamese magazine Orunodoi ?

(A) Dr. Nathan Brown (B) Hem Chandra Baruah

(C) Oliver Cutter (D) Anandaram Dhekial Phukan
41. JlEFN, TEE WE ST S PTG (FG] TR Y] e Tesme

73 ?

(A) TomlE (B) TSk *fe
(C) Sipife (D) TR TE

EE
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41. JFEEN, TEA, ST S @ T A [ T T 2

(A) T (B) A=l =i
(C) S =& D) vha=fe
41. HATFHH, T AR TR F=ITE (Project) HTH 99 FTH™ Alfeciarg | AMTS 24T ?
(A) 2 TfeAa TR (B) TRHETIE TTaT
(C) fegmrer (D) IATE
41, HATFERH, T HR TR TRATTATE HH 9 F1d F To57ei1 1 e Hid & ¢
(A) et wifer (B) T FHA
(C) ardr Zsi (D) FRHA

41. Which source do the projects at Kalpakkam, Narora and Tarapore produce
electricity from ?
(A) Hydro power (B) Nuclear energy
(C) Thermal energy (D) Solar energy

42. TIG QRIGT RN IS TR S| [Friea efowl Fiaiwe 2

(A) Feftre (MIwTie iz (B) =sfme Fu>Ee

(C) “=sfore foafeg (D) =s7re @ ez
42. TREGIE WTEN AECHI 1T S 207 & efew safares 2

(A) =sfre (ndmie Pz (B) =sfme wwiez

(C) =efre W Prez (D) =57 “[77 ez
42. TN HATE T ATHOA A AT TIITH G T TREEHATE THEE] ?

(A) =TIy fag (B) w=e3 &g faz

(C) wesfumafas (D) w3 et fam
42, oo SHER #1 392W dgT=a Fi 3faa g % ' 7 i fwa 2

(A) T3 fae (B) =g =g fue

(C) wriesfafas (D) =wies et fae

42. Who established Jorhat as the last capital of Ahom Kingdom ?
(A) Swargadeo Gaurinath Singha (B) Swargadeo Rudra Singha
(C) Swargadeo Shiva Singha (D) Swargadeo Purandar Singha
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43.

43.

43.

43.

43.

(P S HRRPS SITAE 919 #{[0d &1 7T [ 1% 6 sz 2
(A) ez (B) fmifss

(C) wsww (D) ¥eend

T ACEHA PRI A FAF A0S A T AR TN S 2w 2
(A) sz (B) fifee

(C) W (D) ¥&E

T TABICT A T TETaA3TE TR = T ST TR G377 91 7 7
A) TEE (B) faatsa

(C) A (D) ez

T T 1 TE] T A3 § TEA TSI FALET 1 771 A 97T 7

(A) TaE (B) Tawasa

(C) YFras (D) Wt

What was the name of the king Naranarayana before he ascended the throne

of Koch kingdom ?
(A) Nara Singha (B) Biswajit
(C) Shukladhwaj (D) Malladev

44.

44,

44.

44,

rafefere cemiay Shens vidiret Sfewa Tuizee Zaee skl 1 = 2

(A) =& 5= (B) =¥ 5=

(C) e o= (D) T3] 5=

fereal Srafare simeefera Wt MG St sited Swreae farma facafite =i« 2
(A) =& (B) =¥

(C) Iz (D) PR

TTEEA 78 fawe faar-Taten aesi- fafey 731 2

(A) =@ (B) 9tssh

(C) A D) gA@
TAreRgd @ & &1F 91 I T0ATT SeA d o1 3T&t &l A1 SA1d1 & 7
(A) = (B) ™

(C) ™A (D) formmeg
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44. Which of the following trees is not considered as an example of deciduous
vegetation ?

(A) Sal (B) Mango
(C) Pine (D) Simalu

45. SHOIAT @islE AFET efevrs o iz 2

(A) =R (B) TH Izt

(C) A== (D) e
45. SRS WX A 2SS & ?

(A) ZRE (B) w™E-*z A

(C) 4= (D) ¥FE
45. TS ATUSHE | TRATE THEETIE 91 7

A) 7 (B) Irrme o

(C) ==L (D) IFHAL

45. WA H PTA 99719 % Sa8TH HE Y 7
(A) (B) I Tl
(C) =™ (D) FFH
45. Who was the founder of Mughal Empire in India ?

(A) Humayun (B) Sher Shah Suri
(C) Babur (D) Akbar

46. o= WE SRS (FEG! W2 [T rm efeam s FEee SifeRmaE a9 Zop<wed

feq  fqe oafwe 2
(A) TIZE R (B) <70 w3
(C) ¥To-NTo! =R (D) TSHASR 72T ST

46. 0% > AT (FF WBFT efeam Fa0T Tl SiERFSKE AT AT Z

Gl 20 t-’T! & ?

(A) T B (B) dISFG w3
(C) Weat fReh! eia (D) 2 FETS e
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46. Tafeo arEa o9 A SR 21 2F1 IR T S A TS TAT SFIATS FHT ATHe M 7

(A) AT HEH (B) et 1A

(C) wATI-Taeer B (D) W BRI JATATET BIEATS
46. fafer yma = fora srfufaam & fate § Sterammen am seampTe 1 Wie 33l 53 o1 7

(A) BTSHA HHITH (B) Ueie wxe

(C) #IfHeI gar (D) T TamE® 95

46. Which Act of British India had the Jallianwala Bagh Massacre crowd gather
to protest ?
(A) Simon Commission (B) Rowlatt Act
(C) Morley-Minto Reforms (D) Separate Electorate

47. BEl 213 e & srenreE weel R 391 =, (2 wwE W 3E ;

(A) Tz, T, S=arm o (B) T, 2w, T=E
(C) T, o e, fzmenf (D) fognf, e, (T
47. 2T QTG 40(F 1o 2010 [€eane]] o =
(A) Tz, =, @ o (B) TR, 2w, T
(C) T, Taeienl, Tzl (D) Tzgel, M, (e
47. FSG! TS AFLT SRA TR BT 2
A) Tas, T, 3™ (B) =g unm, fag, sm
(C) #ganm, S 49nH, fag (D) T&s, @, srgarm
47. BTSN A GHT BT HTH AT T E —
(A) Tegud, fag g4, s g4 (B) drggd, fegad, semad
(C) wrggd, Sa9d, fagad (D) fegud, o g, stg ad

47. Hajo is considered as the confluence of the three religions :
(A) Hinduism, Sikhism, Islam (B) Buddhism, Hinduism, Islam
(C) Buddhism, Jainism, Hinduism (D) Hinduwism, Sikhism, Buddhism

EE
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48. TS efefiiy Ffwaq aa FfEes @m e Fie-faal emss s v

I ?
(A) 0 O SRS (B) A
(C) W6 TTRIERE =07 =TT (D) = T3t =R

48. 0 Sr@emE@ W0 (& T o e f20a o =iedd efefiisy wae 2
(A) ¥ 2 SRGF (B) TEEAE
(C) T ITRIT=TE 20 TR (D) X201 T SR

48. TTEEA T G TETHE | BRATP “3(AFR J8@1 fayar 2

(A) TorerR SrEEgE A=A (B) A=A

(C) it fafsat e ams fafsrit (D) Towanf faamsefy smEmfd
48. TreicRad | %M SHiad 1 a4 HE o [0 WIER f50dT Tiasor 2 7

(A) T T AT (B) T

(C) 3= =HeH % &I AFE ™ (D) T&A famEa gF

48. Who amongst the following is the ‘anti-corruption authority’ to represent the

public interest ?
(A) Chief Information Commissioner (B) Lokpal

(C) Chief Justice of High Court (D) Chief Election Commissioner

49. TRER YR @FEG! SPLR WS TET F2E AFY FRT ‘e (NCHAC) *fzs

2w ?
(A) A% P (B) e BT
(C) =B el (D) W sapfl
49. SEER KT @R TR WG Teq T e TR “fwm ofre z&ies ?
(A) e 7 (B) leex 7l
(C) =& 7l (D) W 7=
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49. AR FHIDHT BT TRG, TYHE | HRATH S S a7 58 BT TEEaE e ?

(A) w7y B) ® 5
(C) w8y (D) w6ty
49. dfag™ Fi fHd FAFTE 5 T80 ST HR T3 WA g (. H. w3 T H) 173 o
T 7
(A) AT ST (B) =i H1TEA
(C) T3t ST (D) T3 AT

49. Under which schedule of the Constitution of India 1s the North Cachar Hills
Autonomous Council (NCHAC) formed ?

(A) Seventh Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Sixth Schedule

50. IRETS TR R SeaTs N (4o 1 = ?
(A) Tz (B) 2R Gl
(C) TF =ea (D) Fwes gy
50. RS GO (P ST T R 2
(A) woTYH (B) =TI Gl
(C) A= (D) W= oW

50. A ATHCE! FIEAEE AT FEG SFEE AET 7

-

(&) wEena (B) ]

(C) &1 s HA=E (D) =AM B
50. FAGT AR T ha & 0 1 Al 2 7

(A) gy (B) TS T

(C) =wemd (D) =Fde HerH A
50. Which region is Jhum cultivation usually practised in ?

(A) Wetlands (B) Hill sides

(C) Char areas (D) Flat plains
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51. SRS (W4 I [ T WwEwT S 022 ?
(A) TEEre (B) T=xive 2o
(C) =R (D) ol
51. SIFCSH (P AT LT Sicwien TEo 2@ies ?
(A) Teae (B) Tooe e
(C) = D) B
51. To7R1 SUEETEET YA 59 TSATE JETE SFHHEE 7
(A) ITETS (B) Tewma wem
(C) =@mm (D) fafFra
51. 9T % fohdl T3 d O &7 & T Toh1 HTCTe TR g1 T 7
(A) 3IAEE (B) Team« wem
(C) =famm (D) fafera
51. Whaich state of India did the Chipko Movement originate in?
(A) Uttarakhand (B) Himachal Pradesh
(C) Haryana (D) Sikkim
52. SO YRR T 20 WIS T U1 TE Y79 FAIT ARG R TR ?
(A) TRSFRR G T5<GF 23 =15
(B) R 25 9279 T 2 A=
(C) SRS @I QT MR W24 (Shurs! 2 q (o
(D) N (XA ARIRS “I9Psie TEif 27 #1fer
52. ToTCH Sra<remE N0 (S WAl SRS Fom A €T G %76 FArS 20 41 ?
(A) TSR TiEEF 2o A |
(B) R 25 ITIA T 2@ A1 |
(C) SRECST @ FE01 @F 3 (SHF 20 27 |
(D) v B AR Y 2T 204 |
52. WHATE 99e 4 A5 M A TTEAA 59 FTRGITE A THIY 737 ?

(A) WA FRTRIR SITAF

(B) 25 AR 3 AMRGS T THEST

(C) YRA JERg JET 999 f9as@uT (Voter) SURART
(D) 9wET 10 7 e UaEE SEwAw
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52. HTA H FAE ¢ T4 & (10 (e d H F o5 AHCE 1 T i %1 FATa9Ishal 781 8 7
(A) 9TA T I 2ATETET |
(B) 25 9 ¥ %" 37 1 4&l aF1=e |
(C) 9TRA o fopdl 91 THaraH & H gagrar aA1 =91 au |
(D) T 10 % T 1 HIeTT I a1 2 |

52. Which among the following criteria need not to be fulfilled to become a

Member of Parliament in India ?

(A) Must be a citizen of India.

(B) Must not be less than 25 years of age.

(C) Must be a voter in any constituency in India.

(D) Must pass class 10 level of examination.

53. TIF SRR FHIG e (2% TIgF @ forsiie Ffaieer 2

(A) P9 (B) @rEEe
(C) T IZAF (D) TS
53. (i 96 SRS Aie R (TR Ot “ite) it e safeces 2
(A) P (B) wEmE
(C) T ZTF (D) A4

53. WA JerE1 “U-E 7 Ue” @1 91 FHEA1 SHeAH ?

(A) FFHH (B) SR
(C) FJo-3e-<H U (D) Iz &l
53. @ a9 7 9Ra #1 (A= €1 3 5714) U1 36 U &1 Fam fean ¢
(A) A (B) &I
(C) FIIEH U (D) IwmE T
53. Which Emperor built the (popularly known) Grand Trunk Road of India ?
(A) Akbar (B) Jahangir
(C) Qutubuddin Aibak (D) Sher Shah Suri

54. SR D[RRI BN BRI A4S 33T (FRG TEGF AR ?

(A) TlewH (B) <ol
(C) T (D) 4

EE
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54. I SIEMSmEA N0 (b ST AR SR o 7 A EF 1% 2

(A) STesifa (B) 0ol
(C) = (D) 34
54. YHATH BfefSd 4 gty BTETE TTEE 99 TE37 AT 7
(A) Fute (B) =&
(C) Ay (D) wTEt
54. frefciEs 3+ 91 97 5 S99 % FTAR 351 AT 3 M T2 2 7
(A) 4T (B) =rer
(C) Afyeh (D) &

54. Which among the following is NOT included in the Eighth schedule, as per
the Constitution of India ?

(A) Santhali (B) Bodo
(C) Maithih (D) Karbi

55. & 961 FIMS 91 2N 9P SRR NSE € @ (2E

(A) THLS IR (B) fewtamE orat
(C) Tl RO (oIS (D) fersfeT erel qamisT
55. 9N ST R NTEET F9 @R @ i <& o728 (rafeeEe
(A) THEC BRI (B) wfeRare @al
(C) WixfeT /= (oISt (D) ferlet eret qqwte
55. TR AT AFAE e e SEiE SATEAE R SR (R T 3R 7
(A) F=5uaT AfHaTT (B) e s ¢t
(C) ATET TgaE T rETHT (D) Tda a1 3Ee
55. TR TEERT S AT TEel sTaf S i i Sfae o -
(A)  =guwT Afwarh (B) afcr =rer el
(C) A e TRt (D) fadet 991 IRETATE
55. The first Assamese woman - a poet and author — to win Padma Shree award
was
(A) Chandraprabha Saikiani (B) Nalini Bala Devi
(C) Mamoni Roisom Goswami (D) Nirmal Prabha Bardoloi
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56. SAOR MU FRH! SR TEI-%[T ST I WTF [0 ¥ @i T 2

(A) wF[0ER 14 (B) S#I0=% 377
(C) wemaw 371 (D) w7 254
56. ISR U (T TS T +F SIS AR [0 W @min P zwie ?
(A) 14«=Em (B) 377=cEl
(C) 371724 (D) 25472
56. WHATR AfsiSd a9 gHMET AT-AA1 TRA TSATHRAT 21 JTATE 17479 BT 7
(A) T®114 (B) S®1377
(C) THE371 (D) %1254
56. U AT BT HH 91 AF9¢ T T & A1 1 T8 231 e Har 2 2
(A) IT=9% 14 (B) 317=95¢ 377
(C) #HF=BT 371 (D) 1T=e 254

56. Which Article of Indian Constitution grants special status to the states of
North East India ?

(A) Article 14 (B) Article 377
(C) Article 371 (D) Article 254

57. ST GIEFE To% Ok &F 2y fFeis<e @ 212 @ Terizzs ?

(A) [T @CTTE SEIEE (B) YITdiTt FEI6IT

(C) 2Tt FRI9IE (D) SZwe S g5l
57. SSIAE e foymela o el I3 (iR foefecem ?

(A) [ TR FE6E (B) ImASyiT FEEE

(C) T FEINE (D) v o FEl
57. TETEETA daeaT1 Temhratl 37% Sear fasmeat a1 fommm ¢

(A) T aE SEgEra (B) e AEIATA

(C) 3 SEgatd (D) FHEAGHfhet
57. TS Te% 7 Temratt 317% fear g5 Faiferg1 ot 7

(A) U HgA I (B) FaE A

(C) 35 (D) rEHeFTL feet

EE
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57. Where did Jawahar Lal Nehru wrote the book ‘Discovery of India’ ?

(A) Pune Central Jail (B) Yerwada Jail

(C) Thane Jail (D) Ahmednagar Fort
58. e e BNz (@R RF #13 A0 75 =13 6ol e F0z ?

(A) ToET (B) wiwzh

(C) PN (D) fae

(o

58. forca Sraferm@ ww F 2ZMiG fopa e cetsiere srere (. =251 Ttz ?

(A) ToEIE (B) w20
(C) wmshHa (D) fer=ig

58. TEEM N FEIET ¥ SEEME AR gAE gt g™ gyee s fefem
(Geographical Indication) & AFg ?

(&) T (B) e
(C) T D) farem
58. fFAGEa d afFa WA AT A= FTALGI TTIH g2 7
(&4) T (B) SHEe
(C) TR (D) faretm
58. Which among the following places has received the GI tag for its Litchi ?
(A) Tezpur (B) Jorhat
(C) Lakhimpur (D) Shillong

~

59. Frafei¥e (R 15 FF SR HEel GER FRHFF AT AT SIS 2

(A) 7T FiTS (Tarzlez (B) =1¢ Ffaifem
(C) TS XA (D) =TE P

59. ToTCy Stafer@ W0 (F SRR SRR SRR S F & AT HUS 2
(A) E FITS TR (B) =& iexifer
(C) =T WSHAHe (D) =S
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59. TTEE AR 93 @1 YHATH A T3 TEaE | BramEamEd fsgit fsmt= awem fatasmr 2

(A) TS FARS ScARTSI (B) WIS Haamad
(C) TS ATIeTeA (D) TS AHTA
59. faefafEa U9 %= ard foet goret 3 377 ol & fag @ S 2 2
(A) TS FATSS SABIS (B) TS FHHaATAA
(C) TS AT3eseH (D) S FHTe
59. Who amongst the following 1s known for his reforms in Indian Education
System ?
(A) Lord Clive Dalhousie (B) Lord Cornwallis
(C) Lord Mountbatten (D) Lord Macaulay

60. TIFH! T AT T We CHTRE A% €3 (AFSPA) 921 (2% ?

(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. R ORI IR iz (AFSPA) T AITe I 2R(%e 2
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. =9 ATITAE ENYFTEIHI Z1-31 F 4417121 HTE4 (Armed Forces Special Powers Act) 37T
TAESET 7
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. T T TR I TS99 (T UF. vA. 1., ) foom = oifea feanman g 7
(A) 1958 (B) 1952
(C) 1960 (D) 1971
60. In which year was the Armed Forces (Special Powers) Act (AFSPA) was
passed ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971

EE
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61. 18— [6— {4 — (8 + 3)}] T Wi foIofey =41 |

A —2 B) -5
C) 5 D) 2
61. 18 —[6— {4 — (8 + 3)}] @ forefyy =41 :
A) -2 B) -5
C) 5 D) 2
61. 18—[6—{4—(8+3)THamfeg 7
(A) -2 B) -5
€) 5 D) 2
61. 18 —[6— {4 — (8 + 3)}] HTAM a7 |
A) -2 B) -5
(C) 5 D) 2
61. Find the value of 18 — [6 — {4 — (8 + 3)}]
(A) -2 B) -5
€ 5 D) 2

62. o e 2ific WNFGS 35 B =17 512+ T #IItT | 987 B =% 5z F<ta (oo fawm
R SR G 29?7
(A) 2705 12 TPy (B) 286 8 Wi
(C) 27 5 7wy (D) 28w 12 W

62. 9T @ &fc WG 35 Bl %% YuAsa FAO I | ©fF 987 G *1% Yursd TS T R

SN 2
(A) 27 N5 12 o (B) 285 8 o
(C) 2705 7 o (D) 28 TfIb 12 T
SPACE FOR ROUGH WORK
EE
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62. &9 g9371 9 Tai-erd 35 ™ 2157 (Type) A1 8@T | 987 AREE] 37 FA1 (931 59 TEE
FHAFM ?
(A) 27 fare 12 k= (B) 28fai+e 8 kg
(C) 27 faf4e 7 9k (D) 28fafe 12 TF<
62. TF =AM 35 e ufq Foe 1 G H T FHIA1 2 | 39 987 e 237 FHiA J Tohe1 9 &A1 7
(A) 27To92 12 5hs (B) 28foe 8 Ths
(C) 27Tae 7 I%s (D) 282 12 ¥hs
62. A person types at the rate of 35 words per minute. How long will it take him
to type 987 words ?
(A) 27 minutes 12 second (B) 28 minutes 8 second
(C) 27 minutes 7 second (D) 28 minutes 12 second
4 7 ~
63. T — 7 9 e ferefa < |
1+ 3 2+ 3
1 1
A) 13 (B) 3
(C) 1 (D) O
4 7
63. T~ 7 @R e
1+ 3 2+ 3
1 1
a 15 ® 3
©) 1 D) 0
SPACE FOR ROUGH WORK

EE
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63. 41— ‘1
1+§ 2+§

1

CVEED

C) 1
1 -
630 1_ 1
1+§ 2+§

1

A) 1o

) 1

63. Find the value of 4 -

fH A= feE |

1
B) 3
D) 0

1AM F1d HIT |
1
B) 3
D) 0

7

1 1

1+§ 2+§
1
B) 3
D) 0

64. {~7,-6,—5,...... 5, 6, T} W=GS (B0 FSIG 7=y 02 ?

64. (7,6, -5, ...

64. {-7,-6,-5

64. {-7,-6, 5, ..

B) 14
D) 8
. 5, 6, T} TS FeF Y117 WD St 29
(B) 14
(D) 8

oo B, 6, T} A HINATA TTE HASH T SACTATE 7

(B) 14
D) 8

... 5, 6, T} G 3T TTeh{cioh AT hl e TEAT 2 —
(B) 14
D) 8

SLRC-2022/P-II/B
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64. The total count of natural numbers available in the series {7, -6, -5, ....., 5. 6, 7}
is
(A) 15 (B) 14
C) 7 (D) 8
65. AW 5-STF HGIROT IF MAGR Y[l 3-2TF WHI2eLF ©hed 7RI [ARiel i
R, (S8 TG 2T
(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. o =&a am 97® 7RgeR WRATS AT »wa [ sfes s&fery ==l 2 i Fa
ol
(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. 3 TsamTH (digit) Tedaq IFArTaTw%™ 5 TSa=TE I¢faq Jaraamg! g=E Irea THI™
ST
(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. A(c5 A1 F1 F9 BIE T H A 3 3751 ] F99 I @A 5§ AN, q1 TR 2112 —
(A) 9001 (B) 9000
(C) 9990 (D) 9999
65. If the largest 3-digit number is subtracted from the smallest 5-digit number,
the result is
(A) 9001 (B) 9000
(C) 9990 (D) 9999
SPACE FOR ROUGH WORK

EE
SLRC-2022/P-1I/B 44 25



66.

66.

66.

66.

66.

“x TRIT AT 9F CHFAT CFTTI G897 TS GTHG! A5 AT Fefer et cer
41 =z 1”7
ToErE O TEeeror 2FH (20T :

(A) 2x2 + 3x (B) 2x2+ 4x
(C) 2x%+ Tx D) 2x2+ 12x
“x TACKTR AQMIZ G0 05T 2220 Trarrel (12 9L [omeel #I < 103 sl v 297 |7

Toare fagheba Sreafefes af« -
(A) 2x%+ 3x (B) 2x%+ 4x
(C) 2a%+ Tx D) 2x%+ 12x

“x SARGTRY TTHT AFH 1 Geaarsiai FIRET 3 (-1 ARATTe Faai= ST geeer |
U@ ZREG T AT IS BRAH |

(A) 2x%+ 3x (B) 22+ 4x

(C) 2a%+ Tx D) 2x%+ 12x

“YISTT v % U 1 o AAHA o o1 A1 31 351 1 & THATI & dH 4 d A e smarz |7

ST HIH H1 (19 AT 3 :
(A) 2x2+ 3x (B) 2x? + 4x
(C) 2x2+ Tx D) 2x%+12x

“Two times the area of a square of side x is added to three times the

2

perimeter of the same square.” The algebraic expression of the above

statement 1s

(A) 2x2+ 3x B) 2x? + 4x
(C) 2x%+ Tx D) 2x%+12x
SPACE FOR ROUGH WORK
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67. T SN B4e MWRAE QT AT NHIAGE TIOTGR “[ FFHE [T e 23
(o0 I Tf@ 52 (ST «bl 9% Sfe 29 ?

(A) 7RG w4g e e sk 23 A9 |
(B) w¥I% ] 7519 G911 YA <[+ 29 |
(C) OBl =9ley 7T ST SRICHT S2les SR CT0S 3N+ 29 |
(D) 9% YRR T AT GO YA X2 T |
67. A% 925 SWE v HEIF Qe @5 WG T@ Hl AT (ISR I R T
eTCa SLarre G AT T 2
(A) 72 742 el 2l 20w 24 |
(B) w25 “jefrera usree y-mi =5 24 |
(C) «FG i1yl o517 #jef >1=2iGa 2 erem =03 |
(D) 26 R HFS G5 %) 2T |
67. Sfg FHE T2 AFA I FATATT TEEITEE F W@ T A e AR e
SO g RS JHA S S S, e e g fagiy |
(A) T IratTET AT fafer e st e A
(B) AMA T AN SIATRTTEAT STea13a] ANSE AFFH
(C) AMHEHE’ (inverse) ATTTFA LT AT THISA FHH AT
(D) AFA T FATAN AT AYE TATAFTH
67. fc 21 FH o111 AR FHM &1 011 9 9 72 9 BIE & HIE & & 81, a1 (=g
FABHE AT HITTE R 7
(A) EHT T UThfas FEATd B =TT |
(B) @17UTiehi 1 AT &4 IA BAT 2 |
(C) T T T AT GER T % S AT 2 |
(D) 2111 § ¥ %9 ¥ %9 T I 2 |

SPACE FOR ROUGH WORK

EE
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67. If the sum of two unequal integers equals the subtraction of the smaller from
the larger of the same two integers, then which of the following statements is
correct ?

(A) The two integers must be Natural numbers.

(B) The sum of the two integers is always zero.

(C) The inverse of one integer equals the other integer.
(D) At least one of the two integers is zero.

68. (T @bl fagea fefib! are cer4 Tar 2.3 @.&., 20 fL.f. == 23 .. | fagesi tare
G
@A) femazfoes (B) W fags
(C) el fags (D) W fage

68. @I fgerea feab area = 2.3 L., 20 .. @32 23 N, | faee’ @b
A) fenarfogs B) warzfags
(C) WAl fags (D) WA fage

68. AFH FRETR 9T R AFuTE EeEs 2.3 J.fh, 20 A s 23 fat .
HARETRIGTH 37T A
(A) I Ffs I srrETfRym (B) 9UM I ARG
(C) @AY ARET=Ig™ (D) TRE ARG TY™

68. TH AN FHI dH YA Hl a1 2.3 AL, 20 A FAR23 A 7 B -

(A) TomaTg e (B) =g Bram
(C) FHhm Y (D) =mrgaTg H=m

68. The three sides of a triangle are of length 2.3 em, 20 mm and 23 mm. The
triangle is a/an
(A) Scalene triangle (B) Equilateral triangle
(C) Right angled triangle (D) Isosceles triangle

SPACE FOR ROUGH WORK
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69.

69.

69.

69.

TH2 G5 CFATER AN C2Z -

(A) % x (F TR KT QlsEe)
(B) 2 x (3 FuER i @)
(C) % x (T TOTR eI 7[<eIEe)

(D) 2 x (4 TOER (7T *[erzra)
G THCE TFaTe

(A) % x (T 7253 (TR A (1191

(B) 2 x (3 72637 WK Ta (I9iEE)

]- e ey s
(€) 3 x (& g2iba A goz)

(D) 2 x (3 7263 AR Ta &e1E=)
Te=TEr (Rhombus) TEATS I AT

(A) %x (E ERCEIFCIRAE ERSIESIR ERAEICINTE)
(B) 2 x (fSFA@AERE gl amEg = gremeT)
(C) %x EERCEIR CIRAC ERSICEIR EReICEIC U
(D) 2 x (fafAEAErET gHf AEgEE )
THI TS T S S BT 2 —

(A) 5 (3% & Faa 1 <raré 1 v

(B) 2 x (39 g1 faehIl 31 oiaTs 1 JW)

(C) %x (39 21 TaaRTIl 1 AATS 1 THHA)

(D) 2 x (35 3 TR0 1 FATE H1THHA)

SPACE FOR ROUGH WORK
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69. The area of a Rhombus equals
1
(A) 9 X (sum of the lengths of its two diagonals)
(B) 2 x (sum of the lengths of its two diagonals)
1

(C) 5 (product of the lengths of its two diagonals)

(D) 2 x (product of the lengths of its two diagonals)
70. ‘Qrﬂ%l{@"ﬁﬂf - 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. *FrER 7 92 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. T T AP ETME : 149, 600,000 = x 107.

(A) 1496 (B) 1496

(C) 14.96 (D) 1.496
70. Tk S HI9L: 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
70. Fill in the blanks : 149,600,000 = x 107

(A) 1496 (B) 1496

(C) 14.96 (D) 1.496
71, @e¥ 20 BI %S4 9= Q9% (202

(A) 210 B) 120

(C) 124 (D) 310

SPACE FOR ROUGH WORK
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71, &=¥ 2000 ZSI<F AR QIR 25 -

(A) 210 (B) 120

(C) 124 (D) 310
71. fafstaq 20 faferT 313058 (Natural numbers) 15 SR ™@3T IFTH

(A) 210 (B) 120

(C) 124 (D) 310
71. T9H 20 Tl TEAT HT AT 2 —

(A) 210 (B) 120

(C) 124 (D) 310
71. The sum of the first 20 natural numbers is

(A) 210 (B) 120

(C) 124 (D) 310
72. X2y WF xy? q9AALE, 2

(A) «x B) v

(€C) x+y (D) «xy
72. 2y @@ ay? @ AALE. T4

(A) x B) vy

(C) x+y D) «xy
72. xZy AW ay2 e aEn (HCF) ATATSIE ?

(A «x B) vy

(C) x+ty D) xy
72. x‘zy R xyg &1 T H.UF. B —

(A «x B) vy

(€) x+y D) «xy

SPACE FOR ROUGH WORK
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72. The HCF of a2y and xy? is
(A) x B) v
(C) x+y D) xy
73. (I IRAT QFFF K99 HLHF 1 AN o SE 72P ¥ SLFW| y 2, (90 RAGI1Z T
A) 10x+y B) vty
(C) xxy (D) 10y +x
73, QFH AT GFFT T a0 QR T 2 y A emg W1l 2= :
(A) 10x+y (B) x+y
(C) xxy (D) 10y + x
(ERS ER e e Er B E ERIC R EAEEIEE RN ERIC E EAEEIEE N AE RN ICE R IR
q1HIE ?
(A) 10x+y (B) x+y
(C) xxy (D) 10y + x
73. FACTHEH YUH T IF x 8§ AR CEE o YHWIAF v 7, a T hdh gRIGI TS 8 7
(A) 10x+y B) vty
(C) xxy (D) 10y +«x
73. If the digit at the unit place is x and the digit at the ten’s place is y, then the

number is given by

(A) 10x+y B) x+y
(C) xxy (D) 10y +«x
SPACE FOR ROUGH WORK
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74. TH%‘T’.{W:(

74. WF TR T4 :[

(C) 14

(o]

1

A) 11

(C) 14

1

A) 11

(C) 14

1
74. Ewvaluate : (_

2

1

A 11

(C) 14

(1
74. mw:(g

bo

12
g] fAamfega

oty

B 31

(D) 54

SLRC-2022/P-II/B
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75. x2— Bx+ 6T x— 3T 27 FQ A 2907 (202
(A 1 B) x-2
(C) 0 D) x+2
75. x%—5x+ 6T x— 3 QFAA % FAE
A 1 B) x-2
(C) 0 M) x+2
75. &% —Bx+ 6T x— 3 I THAEATE AHTHE THATZH T=H
A) 1 B) x-2
(C) 0 (D) x+2
75. x— 3 AT a2 — 5x + 6 HT AT 3 1 T 37741 B -
(A 1 B x-2
(C) 0 D) x+2
75. Division of % — 5x + 6 by x — 3 results in
A 1 B) x—2
(C) 0 (D) x+2
76. (P T WS CFaTe 202 300 .N.2 3T R 799 075l (208 25 @ .. | IRSBGR
AN 24 ;
(A) 88TW.M. B) 70W.N.
(C) 64 .M. D) 58W.f.
76. QI JARSERCIT EFTEA 300 1.2 @I ©F IR N 25 LA | SREEsEBHa “T4f
(A) 88T9.fa. (B) 70THM.
(C) 64THM. D) 58 TLA.
SPACE FOR ROUGH WORK
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76. T A e SEE 300 (Afa.) % S 3w A BRI ey TEsT S 25 A |
A FTAAA ARATIC TaE s9aT 7

(A) 8s&fm. (B) 704
(C) 64#fa D) 58 #Afa
76. T 3EG H1 &5 300 F A, B 3T 36 Taeh1 1 7as 25 .41, 2 | 3790 1 IRATT 2 -
(A) 88 & (B) 7044
(C) 6434 D) 58 A.H.

76. The area of a rectangle is 300 cm? and the length of its diagonal is 25 cm. The

perimeter of the rectangle is
(A) 88cm (B) 70 cm
(C) 64cm (D) 58 cm

77. T GF SAIHR F199 i KT [ NASCE 2 T | A SHIHGIE 79F 2 (@ HF 295 3 &

22 .
7 T K, (0T 2 g Ao | ST (R

1 3
A) 3 B) =
© 3 O g

77. I SHRWIE T R T 0T 2 T | A IS 2 A AT FA R QIR TACE 3 A AF

.2
WI%WWW%WW.@'WIW%@:

1 3

A) 3 B) =

5 7

© = M) 3
SPACE FOR ROUGH WORK
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77. AFE FETIE 4 TATHE TGS 2 @ | i THAmE] 2 S AFEreal 3R THIrE T

- - . 2 o . N
3 S AT AT, MT@WWW@]EWB@W@W

1 3
A) 3 B =
© 3 ®) g

77. U 9T 13U 39S B A 2 FA 2 | Afg A1 2 AN {HAT I IR B AT 3 9700 A

mﬁfw%ﬁw%ﬁm%—

1 3
A) 3 B) 3
© 3 O g

77. The numerator of a fraction is 2 less than its denominator. If the numerator

1s multiplied by 2 and the denominator is multiplhied by 3. then the fraction

2 o
becomes 9 The fraction is

1 3
@ 3 ® %
© 7 ™ 3

78. (I @2 fOions o 9 < (@A TRF 51T A (22 16 q29; (e o 1 {qe1159 9l

R 15 23 F (F95 (AN 91T R Z2F 18 T3 |
R 4TS <! 7 T IIF (R TR ] TS 22 :

(A) 5:2 (B) 4:3
C) 2:1 D) 3:2
SPACE FOR ROUGH WORK
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78. QI RIR (BCF € WRH 1T R 16 I | (91 (RCEAE 91T RA 15 IR G (&I
R 91T R 18 387 | FRmERIGTS (203 € TR SRS -
(A) 5:2 B) 4:3
(C) 2:1 (D) 3:2
78. TH FEATCEE 9 BETE SR fEEE B S T AFA FEE 16 FER | BEE
TS BRI SEIH T AEHAT 15 S8R AW Tamsm=a 115 Brfa 3919 10 qEa1 18 FEn | 9
FAETAATE BETE AR fa=A s rf T3a 18 391 ¢
(A) 5:2 B) 4:3
©) 2-1 (D) 3:2
78. TUH Thol d Agh IR ALHA ¢HI 1 HTFd A 16 TH 2; Hacd A1 1 379d H1F 15 a9
2 3R HFA AT o 3THd 3 18 A9 8 | Thed H igeh] Ud AT 1 TEAT &1 7714
a—
(A) 5:2 (B) 4:3
(€ 2:1 D) 3:2
78. In a school, the average age of both boys and girls is 16 years; the average
age of only boys 1s 15 years and average age of only girls is 18 years. The
ratio of the number of boys and girls in the school 1s :
(A) 5:2 B) 4:3
€ 2:1 D) 3:2
79. (1—%\] [1—5 ......... (1—%] (1_%) ST N 0202
1
@ 1 ® 5
© -3 ®) 3
SPACE FOR ROUGH WORK
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1 1 1 1 .
79. [1 2] [1_3) ......... (1_9] (1_10) JMTGa = 29
A) 1 B 7o
1
© —710 M) 3
1 1 1 1
79. [1 —2) [1 3) [ 9) (1 10) o1 A4 fe |
1
A) 1 ® 15
1
© 710 D) 3
1
79. aﬁrﬁ(l_g) [1_5) ......... [1_5] (1_5) HIAHE 8-
1
A) 1 B 7o
1 1
© -70 D) 3
. 1 1 1 1Y .
79. The value of the expression (1 —3) (1 —5] (1 —5) (1 —EJ 1S
1
A) 1 B 15
1 1
© 710 D) 7
80. I G SRIF 12.5% BT F<CeT FRANGT 119 =eal | FRATG! C2'
(A) 130 (B) 125
(C) 148 (D) 136
SPACE FOR ROUGH WORK
[OF0]
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80. T MRANTCT 12.5% a1 119 “I1exi AR | 7=
(A) 130 (B) 125
(C) 148 (D) 136
80. ARH FATHARET 12.5% BAAGAT 119 FAT | & SATTHET AT 7
(A) 130 (B) 125
(C) 148 (D) 136
80. UH FEATTH 12.5% G2di 3, a1 119 B AT 2 | 9T & —
(A) 130 B) 125
(C) 148 D) 136
80. A number when decreased by 12.5% becomes 119. The number is
(A) 130 B) 125
(C) 148 D) 136
81. 1,2,4,8, 16, ......... , 256, 512 XRUFAGIS 2/ 77 324y 1202 :
(A) 10 B) 9
C) 7 D) 8
81. 1,2,4,8 16, ......... . 256, 512 TFNHC® ATAd 7L
(A) 10 B) 9
C 7 D) 8
81. TTEEMH HITEAE AFSA fagEg: 1, 2,4, 8, 16, ............... 256, 512
(A) 10 B) 9
© 7 D) 8
81. e gEend g HIa&N?2:1,2,4,8,16, ......... , 256, 512
(A) 10 B) 9
C 7 D) 8
SPACE FOR ROUGH WORK
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81. The number of terms in the series 1, 2,4, 8, 16, ......... , 256, 5121s
(A) 10 B) 9
C) 7 (D) 8
82. (I 9% TZIF NATE 1 : 50000 (FFS S&aw 41 (& | WU TS 75!l Zed 77% 12
@ .. | ZFDIE NEH 2 UIY (2E
(A) 6fFf. B) 9fFf.
(C) 12fsf. D) 15,
82. D *ZLFA AL 1 : 50000 N1+ T o 91 271 | WU @ALTe 76 2019 7% 12 T1L. |
O CEERINEEEECE
A) efsf. B) 9fsf.
(C) 12fsf. D) 15 s,
82. TH HElH AMAFIERET 1 : 50000 BFAAAE AMEGE! | 9 AR RIATE THEAE G-
TSATE GTHE TRIET SEE 12 9.0, | 3T g T TEIEs ey ?
(A) 6T (B) 9f=%.fa
(C) 12f®fm. D) 15f%.1a
82. U W& H1 FFM 1 : 50000 *F T T =R fohan 1T 2 | A W a1 ®H % &4 H1 gl
12 370, 2 | 20 e 3 e A g 2
(A) 6T (B) 9T,
(C) 12T (D) 15f%.H.
82. The map of a city is drawn on a scale of 1 : 50000. The distance between two
locations is 12 cm on the map. The actual distance between the two locations is
(A) 6km (B) 9km
(C) 12km (D) 15 km
SPACE FOR ROUGH WORK
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83. THICII 9DI R 9RFeT 12 B[ FR2GMBGIN I5iFe11 “I12f (202 60 | FHMDIR We “I1ef<
.\.555 :

A) 4 (B) 3
(C) 6 D) 5

83. W32Ib R QAT 12 QTR S 0afa #1125 60 | 27 7263 el 231 :
A) 4 B 3
(C) 6 D) 5

83. M FATTHNA SSISFITEET JEE 12 37 99T W4 BRETYIT A== 60 | o AArsq 1
T BRETIAT 97 ?

A 4 (B) 3
(C) 6 D) 5
83. TIHEAISIHT AR 12 2 3R 39h F11 BT AW 60 2 | HI S 5 o9 BT AT 2 —
(A) 4 B) 3
(C) 6 D) 5

83. The sum of two numbers is 12 and the difference of their squares is 60. The
difference between the two numbers 1s :

A) 4 B) 3
(C) 6 D) 5

84. 2009200% I 2T

(A) 40,000 (B) 400
(C) 4,000 (D) 440

84. 20047200% = :
(&) 40,000 (B) 400
(C) 4,000 (D) 440
SPACE FOR ROUGH WORK
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84. 200 f7200% AT IFH

(A) 40,000 (B) 400

(C) 4,000 (D) 440
84. 200 FT1200% 2 —

(A) 40,000 (B) 400

(C) 4,000 (D) 440
84. 200% of 200 is

(&) 40,000 (B) 400

(C) 4,000 (D) 440
85. 14, 21 i 28 T .98, ™ 1.1 T. T i (202 I2AIFN

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. 14, 21 €3 28 I =M. L. QI 51.1.T. TN :

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
85. 14,21 s 28 fA¢.3.91. (HCF) W .34 (LCM) 31 %I

(A) (84, 14) B) (56, 7)

(C) (84, 7) (D) (56, 14)
85. 14, 21 3iR 28 = U H1.UA. 37R w9 1. UF. FHAM: 7 :

(A) (84, 14) B) (56, 7)

(C) (84, 7) D) (56, 14)
85. The LCM and HCF of 14, 21 and 28 are respectively

(A) (84, 14) B) (56, 7)

(C) (84, 7) D) (56, 14)

SPACE FOR ROUGH WORK
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Q. Nos. 86 — 88 : Fill in the blanks with correct prepositions :

86. Have pity the poor.
(A) with (B) of
(C) at (D) for
87. Take precaution cold.
(A) against (B) for
(C) with (D) within
88. The picnic table is placed the tree.
(A) under (B) underneath
(C) beneath (D) below
Q. Nos. 89 — 91 : Choose the correctly spelled word :
89. (A) Veterinary (B) Veterinery
(C) Veternary (D) Veterenery
90. (A) Elemantary (B) Elementary
(C) Ellemantary (D) Elemantery
91. (A) Dissimilar (B) Disimilar

(C) Dissimmiler

(D) Dissimiler

SLRC-2022/P-1I/B
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Q. Nos. 92 - 93 : Choose the correct pair which is similarly related.

92. (A) Good, Best
(B) Tall, More tall
(C) Fat, Rough

(D) Worser, Bad

93. (A) Funny, Funnest
(B) Ovrder, Disorderly
(C) Keen. Kind

(D) Calm, Calmer

Q. Nos. 94 — 95 : Choose the correct pair of words which are OPPOSITE of

each other.

94. (A) Rough — Coarse (B) Artificial — Synthetic
(C) Take — Accept (D) Sad — Happy
95. (A) Easy - Tender (B) Within — Outside

(C) Right — Correct

(D)

Closed — Shut
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96. Choose the correct pair of words which are SYNONYMS of each other.
(A) Evil — Blessed
(B) Cheat — Deceive
(C) Above — Below

(D) War — Peace

97. A group of Dogs is called
(A) Pack (B) Swarm

(C) Herd (D) Flock

98. A group of Monkeys is called
(A) Troop (B) Cluster

(C) Rabble (D) Herd

Q. Nos. 99 - 100 : Fill in the blanks with correct articles :

99. Edmund Hillary and Tenzing Norgay were __ first to conquer Mt. Everest.
(A) the (B) an
(C) a (D) it
100. Mzr. Bennet left his property to__ unknown heir.
(A) a (B) an
(C) the (D) some

Of0]
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101, 73S YT (HIG] SURET Q5 *[1%/] 7T ?

(A) Apology (B)
(C) Psychology (D)
101, 28 Sraf<re (R SR =11 7% 2

Archaeology
Geology

Archaeology
Geology

Archaeology
Geology

Archaeology
Geology

Archaeology

(A) Apology (B)
(C) Psychology (D)
101, TITETA s FHAST HIAAEA THT 3= ST 7
(&) Apology B)
(C) Psychology (D)
101. fefafEd 7 3 %1 S1eT21 F1 AT HE 2 7
(A) Apology (B)
(C) Psychology (D)
101. Which of the following is NOT a branch of study ?
(A) Apology B)
(C) Psychology (D)

Geology

102. &6 (258 O To© X905 T 4 |

A) cTfererat (B) &R

(C) T D) e
102. &0 =73 710w e “faer tfes 54

(A) cEfereia (B) FreoE

(C) fop-wiist (D) farep
102. Tershe o Sea THT AeeE | o |

A) feefrard (B) H13

(C) fis zma (D) f=d
SLRC-2022/P-1/B 65
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102. 5Fhe F @ & I Farad Iec &1 T2 HL |

A) fecfad (B) HRH

(C) T 377 (D) f=d
102. Identify the term associated with the game of Cricket.

(A) Delivery (B) Counter

(C) Pickup (D) Reverse
103. “THTS! : I *[F YHIK AT PF< 7 751 &'

(A) Pants: Legs (B) Cap: Head

(C) Gloves: Hand (D) Belt: Neck
103. “5ol - 2T 23HA TS GF2E(F 5 = (STl Tize 9 |

(A) 0 - #f (B) Tl - wie

(C) TrewE :3e (D) NI (@) : 5l
103. “JI1: FRETR’ AR AERITH TG 314 |

(A) THESHE : ATY (B) 9f5:@1

(C) WG : ARETS (D) e TIEHT
103. T84T g1 31 SA1S1 1 Teg™ 361 a8 F HL o d ‘T : a4’

A) Te: | (B) &rfi: fam

(C) ™E:EM (D) ST
103. Identify the pair of words related in the same way as “Shoes : Hands”.

(A) Pants: Legs (B) Cap: Head

(C) Gloves : Hand (D) Belt: Neck
104. 78 | YRS CHIRCE] ] S (<551 A= TG T TR ?

(A) 256 (B) 884
(C) 128 (D) 512

EE
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104. T3 (F6X1 YRFIGTHAR 32T (TR G2 (HFH SN TF R ?
(A) 256 (B) 884
(C) 128 (D) 512

104. TTEEH T8 AFE 70T = S W FFAT AE SRR ST 7
(A) 256 (B) 884
(C) 128 (D) 512

104. <I7TE FEATT A 9 B HI Uh & T9E BT a1 77 2 7
(A) 256 (B) 884
(C) 128 (D) 512

104. Which one of the given numbers is not a part of the same group ?
(A) 256 (B) 884
(C) 128 (D) 512

105. 3% 299 &fexT D @, *[9 &f s M @, Qe efeis A @ o ae e S @
L&A1 7, (o0 WA= GG e g 27 ?
(A 32A8M16D4=-3/2 (B) 6 M18D26S13A7=173/13
(C) 11 M34S17D8S 3=38/3 D) 9A9S9D9IM9=9

105. 3w D 9l =&, M 7@9 R, A @9 R 9. S [q®iel & =a ey Sraie @ 3ol
77 2
(A) 32A8M16D4=-23/2 (B) 6 M18D26S13A7T=173/13
(C) 11M34S17D8S3=38/3 (D) 9A959D9M9I9=9

105. Jfg D 311 THAE, M 371 FFEAME, A 3T SEEAE TR S 371 gF@ 9@ BRAE], 376
TTEEA 8 fagie s 997 2
(A) 32A8M16D4=—3/72 (B) 6M 18D 268 13A7=173/13
(C) 11 M34S17D8S 3=38/3 D) 9A9S9D9IM9=9

105. 3¢ D 97 2, M2, A 91 8 R S e 2, A fA=faigd # A HH A1 HIT aca 8 7

(A) 32A8M16D4=—-3/2 (B) 6 M18D26S13A7T=173/13
(C) 11M34517D8S 3=238/3 (D) 9A959D9M9=9

OF10]
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105. If D is division, M is multiplication, A is addition and S is subtraction, then

which of the following statements is true ?
(A) 32A8M16D4=-3/2 (B) 6 M18D26S13A7=173/13
(C) 11M34S8S17D8S3=38/3 (D) 9A9S9D9IMI9=9

106. TIf<h! %% fooas, (FRKG! =% WRTTRT TS T TR 2

(A) Asia (B) Europe
(C) Australia (D) Africa

106. TIF(D *[T3s W02 (D SRICas Sl =% 2

(A) Asia (B) Europe

(C) Australia (D) Africa
106. A A1SrEt- A1eE o9 AGEAT FTR S TRIAT ?

(A) Asia (B) Europe

(C) Australia (D) Africa

106. T I § § o1 ©1 Ieg gall H THeTa1-Jofd1 74 2 ?
(A) Asia (B) Europe
(C) Australia (D) Africa
106. Of the four words, which one is not similar to others ?
(A) Asia (B) Europe
(C) Australia (D) Africa

107. &S *FREs [eeTe 2T W Ui Seea

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
107. Fo703 Staf<rs *F7esfe1a W02 Seend (2T 426 X0 0% (99 6! |

(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT

EE
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107. TTEMETE 2™ SCEH R ATEHE T BRFFH SeEE ] 71T ?
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
107. fr=fefed aredl 7 v #1 J1=3 A fva @ |
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
107. Of the following words, find the one different from others.
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
108. 6574398 K[ HFAR[ T2 < A4 [ JHEST 7 SRAGE 7 GiNes
(PO =& 2/if<rq 2
(A) 6 B) 5
© 7 D) 4
108. 6574398 U3 T JITF FA @ HTN WA sfT® =3, G2 WiHa TF W
wefs S = ?
(A) 6 B 5
© 7 D) 4
108. 6574398 AT T Toams AT B S Hg3 gEed FA T TS G=A
faams @1 A 2
(A) 6 B) 5
© 7 D) 4
108. 6574398 % #1 371 H1 ITAFT HTeh FT3 A1 qeh ATl T8 BIE TEATH, 3 &4 9 HH
=1 37 2T 7
(A) 6 B 5
© 7 D) 4
108. In the smallest number that can be formed by using all the digits of 6574398,

what would be the digit exactly in the middle ?
(A) 6 B) 5
©) 17 D) 4

OF10]
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109. 3G FER FAOR T W e 9 qRIGT 2 <051 Tore 4 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
109. 3TTST FNEE TR @32 7% T o= * s Tize 59 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
109. TS FRE AT A AR I BRG T AT 79 ST Dlesg 1 71T 7

(A) BOLT (B) TELL
(C) BELT (D) TALE

-

109. 39 I7eg =1 T2 i T8 IS FAUHEAT 6 gHL 3 TE3 GHT ST 2 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
109. Identify the word which features both the second and the fifth letter of
English alphabets.
(A) BOLT (B) TELL
(C) BELT (D) TALE

110. TG = B3 AR =71 TS SFGF TR ?
(A) Sleeper (B) Lower
(C) Stopper (D) Upper
110. TR *[H5 SFILTER A0 Q32 T B CF ] ?

(A) Sleeper (B) Lower
(C) Stopper (D) Upper
110. 59 AEET YTARE FREHIS] AHMSTE B3 ATRSET 7
(A) Sleeper (B) Lower
(C) Stopper (D) Upper

EE
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110. =19 91 I16g I FHE & 9 F(IT T2 2 7

110.

(A) Sleeper (B) Lower
(C) Stopper (D) Upper
Which word does not belong to the group with the rest ?
(A) Sleeper (B) Lower

(C) Stopper (D) Upper

111.

111.

111.

“TYR SIS L (S |

“Tee THTO (&Y |7

B TS (EY |

3V 22 51 Sf@ ey R, (O0% TR S &1 2 7 :

(A) 9 (B) ey
(C) =27 %E T (D) FE
“TIR BFRE (AT I

WS T (ACF Y7
“RAFRF T (AT 87

(-

T 22y Vﬁj ﬁﬂf@ NS K, Ol OER Hjﬂaib ;

(A) T (B) Tweni

(C) W% o2y (D) FSIE

“TH 3T SAHAA A G 3 i a7’

“FTH AT TGS AT

“TAHTAAT T A3 g

e s oA fagforn 9, steen gty fagfor

(A) 9T (B) T@WH

(C) IRETTA (D) \EFITAfEgY

OF10]
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111. “THR U@ A 5812 |

‘AT AT |7

“FUAITE A TS 8 |

g Tect 1 HYA TA €, A AT HFIT B

(A) I (B) 3IE

(C) HTAE FHEHE (D) rEEad FYF

111. “Tapan is elder than Emmanuel.”
“Chetan is elder than Tapan.”
“Emmanuel is elder than Chetan.”
If the first two statements are true, then the third statement is
(A) True (B) False
(C) Insufficient information (D) Unrelated

112. 3% MADRAS *351F (@611 @F e NBESBT f&0@ &4 =/, (0% 45! SH®
BOMBAY *305<6 (WS (o114 wifarq 2

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

112. 3% @< e S sitste MADRAS (¢ NBESBT {2019 <l =, o< @ srig
S BOMBAY Feita (@411 2R 2

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

112. ¢ @™@F 9EE MADRAS ©1 NBESBT 3RS (Code) feitl, BOMBAY @1 &
HTIHETE AT SARS TAHFTH ?
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

112. 3¢ s f4i5d 9191 3, MADRAS %1 NBESBT % 17 d %1 gd (31 11 2, a1 36 9191 4
BOMBAY %134 =1 ed 31 S@T ?
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

EE
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112. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY
coded in that language ?
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
113. 93 w<fafze *% ACEGI ® Wi+ 071 @ fauery foreifG (s Fefaiits wife v <12 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. F03@ & 3¢ TG 23 ¥3F ACEGL 311 %19« 1 o0 o] 3740 FCafe] 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. 374y 71 Aerd ACEGT S A1 5+ 7@ | 519 ATG=31 S8 ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. AU HTHH 91 F98 AYEH 3eg ACEGI g1 {3 Tid T2 =1 13 981 hian 8 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
113. Which set of letters does not follow a rule set by the meaningless word
ACEGI ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
114. 3RIE FARE e vixe (4fe wiedE X | ©F (2o i @ W vem e
SISRIG | 43 (4TS ©I2 Hete X9 oR 37 %93 @ (1S S22 AR | 5F] GF Rl G
ot 3[4 f =it ?
(A) *§ (B) T
(C) “I*5x (D) wse
114, F1 e @ i oiRel «if 2105, SR O NS (1T TR SIS “=em 711 20, QG

T (TG TR SIS QFCHT A1 2ITH, AT 2 (R0 371 03 1T 2
(A) S (B) Ted
(C) “M6x (D) v

OF10]
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114. SHMET 99 ATEAREY 50 A 9EET | 953 (531 swra fifean srEmE 50 FH
TEME | e (51 =1 3T/ 100 HFH SEEsE] | 3@ g1 56 (g1 9@ TH1E 2
(A) =S (B) @&t
(C) =M= (D) @|rer
114. &H1 370 TS %1 TF =6 FHed Fod! 2 | (5 78 a3 AR gedl 2, 75 =E Hed Iod1 ¢ |
Tal TR YAl 28 AR H HeAFTAd! 2 | AATH1 g HaThafema 2 ?
@ (B) 3T
(C) wf=m (D) e
114. Leena walks fifty steps towards the rising sun. Then she turns left and walks
another fifty steps. Here she turns around and walks a hundred steps. Which
direction is Leena facing now ?
(A) East (B) North
(C) West (D) South
115. Q< 5P ea FNETF T 904 1@ ©iE a1 Enifafos ool tare @b
&) g fags ®) I fags
(©) i fags (D) SpETi fags
115. @35 F9(FE TN @RI St o Fa0e Sevifirs sifhes sighet =4 :
A Ffags B) W fags
(C) el farge D) e fagw
115. & 1 F&d SATE | (6 @ATERE 1 S g7eet] STRg HE JAGSAT T8 q1 JFH 7
(A) G AETII™ (B) THM IET AETY™
(C) @AY AETHI™ (D) TAE AEGTIL™
115. T SFTTHT EATA 1 36 (5601 o 3Tfem Argd T o safadia smefa 2t 2 -
(A) s g (B) =g frys
(C) =R (D) =S
115. The resulting geometrical shape on folding a square Handkerchief along its

diagonal, is the
(A) Obtuse Triangle (B) Equilateral Triangle
(C) Right Triangle (D) Acute Triangle

EE
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116. 80, 10, 70, 15, 60, ........ *RFACH S 1 CAIAT RS 751 7Re 27 -
A) 20,50 B) 25,45
(C) 30,90 (D) 50, 20

116. 1 (ST FHO0S “[F0! 94T 7) 297 -

80, 10, 70, 15, 60, ........

(A) 20, 50 (B) 25, 45
(C) 30,90 D) 50, 20

116. 80, 10, 70, 15, 60, ........ BIEE 6 THE 34 A ST T A7 AT 7
(A) 20, 50 (B) 25, 45
(C) 30,90 D) 50, 20

116. E17TS @1 H 3771 o T B —
80, 10, 70, 15, 60, ........
(A) 20,50 (B) 25,45
(C) 30,90 (D) 50, 20
116. The next two numbers in the given series

80, 10, 70, 15, 60, ........

are
(A) 20,50 (B) 25,45
(C) 30,90 (D) 50, 20

117. % L MOAT 3 0TS 7#({Fe, R SOAP 3 08 W(Fe =, (T8 WHEd F 7w&e

(24 =1 (22

(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

117. ¥% L. MOAT @3 7% 7#i(5®, R 79/F® SOAP @d 7F, O@ dF3ed F 795 -

(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
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117. 9f¢ L 371 MOAT <1 @&ErTEI, R 311 SOAP S @RGSR HI, 376 F A1 @ =ad Fasil

AT 7
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
117. F¢ L, MOAT & &4 2, R, SOAP & 9afud 2, a1 F 36l Yo & #afud 2 :
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
117. If L 1s related to MOAT, R is related to SOAP, then F 1s similarly related to
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

118. CUP : LIP :: BIRD : ?
ST BB A (17 412+« [9FeIh] (207
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH
118. T 958G @2 SFItFF 0% FR_ACE SICa WK
CUP:LIP :: BIRD : ?
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH
118. =9 9" APEAES 931G 3 A6 94 dHerg | fefran?

EﬁT’!:‘;ﬂ%—T el ?

(A) (B) FmmHl

(C) TRy (D) TR
118. &1 =91 a7 Faiad o fae F99 3739® 2 —

F7: BB W ?

(A) =™ B) =

(C) == (D) =&

EE
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118.

Which one of the options best fits the relationship
CUP:LIP: BIRD:?

(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

119.

119.

119.

119.

IRl SrgRco! (Ui 4= 212 «7 93 8x3e ! frare i -
GYRA'D - ST TN (B0 -

(A) o=z B) 532

(C) TBcH (D) celom
2R o TR S D <oe e faeE fifee 7
AT - TS TSR GO

(A) ProFE ®B) .53

(C) G5 (D) =y
AMCRE | AN qEg s 16 d- 9P a1 @ d TAAEE ! 31§ @A ?
EC : NI ETT aHl : : T ©IF

(A) Fhd (B) fafas

(C) fodfwa (D) wigh™
T8 G TSl 3T 959 3= Toshed 1 T8 i 371 s A w191 -

Wﬁ:&?‘gﬂ:?ﬁ:ﬁﬂ%{w:

A) fome (B) @&
(C) fewpe (D) wTHH
119. Find the relationship and identify the best option to fill up the gap :
Airport : Runway :: Railway Station :
(A) Signals (B) TTE
(C) Tickets (D) Platform
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120 A6N3M4ANTHSN4ANZK7AZ2D5F6

[<=IHTS 2l HPCHANCAT Yo SHEPT 9151 (2T

(A) 22 B) 24
(C) 26 (D) 20
120. w0 TS

A6N3M4A4NTH3N4AN2K7A2D5F6
HALTE] YU S (IR IR 9
(A) 22 B) 24
(C) 26 D) 20
12000 A6 N3M4NTH3N4N2K7A2D 5 F 6 %@E 9AE TH 50 5964
TG 1 feg ?

A) 22 (B) 24
(C) 26 (D) 20
120. s@el

A6N3MANTHS3N4ANZ2ZK7A2D5F6

T 91 99 31 F1I7 H12 7

(A) 22 (B) 24

(C) 26 (D) 20
120. In the series

A6N3MANTH3N4A4N2KTA2D5F6

the sum of all the even digits is

(A) 22 (B) 24

(C) 26 D) 20

[=zgL=]
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121. TTS 2 esi@qie< Tl (?) efegw FEa0e ar e @[ =0 Tre 54 -

aN Y6V A
5 5 9

(A) 57

B) 51
(C) 58 (D) 63
121. FI3@ TEBre 2Rtal< TiEa “9a0e @R 1220is o1 ©f Tize 554 |

ANEARAN
6 5 9

(A) 57

(B) 51

(C) 58 (D) 63

121. I BRAEAE (9@ ST TEE = 3IAYTE 9! 1T ?

6 5 9

(A) 57 B) 51
(C) 58 (D) 63
121, TR AT 9 794 % 1 9 o a8 9F &1 T8 HL |

6 5 9

(A) 57 (B) 51
(C) 58 D) 63

121. Identify the value to replace the question mark (?) in the figures :

6 5 9

(A) 57
(C) 58

B) 51
D) 63

79 %%&
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122,

“GIR, T, g
*[97 (PG T2l fefiig =1 fTai! ftfee w1 |

e

C:

Bl B

€

122, (191, 0¥1l, g

GUAC CTT &felifrg 1 TTEbe Ufze <+ |

(A) O @ B)

(C) D)
122. 941, €71 3R 9198 | BRAEYT 93153 916 a4 AIF1T1ea 1 A1 |

w 0D ®
122, 959 37231 Ufaiaca H J1e 37 1 fafad w1 -

Tiee, faca, Jea

" 0®
122. Mark the diagram best representing

Gold, Silver, Metal

(A) O @ (B)

EiE
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123. 27€ TR [ToTS WAERSLF 72 LA e B |

(&) % (B)
(C) /\/I\ (D)

123. SEd It S 9 fog frafors tfee 51

(A) % (B)
(C) fYI\ D)

123. TFTRRTHT™ ATAE AFTG ] a4 |

(A) ? (B)
(©) mj\ (D)

123. T & A STHA H1 T8 Hi —

) ? ®)
(C) rvI\ (D)

123. Identify the figure different from others.

(A) E (B)
(C) /\/I\ D)

W3 UE d3E A3 W
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124. w51 R TRz 22w 71 =I§F Topnce «F e s@fes 2re iy | ok s

L L S

SR 9 =00 effeive Faa “F1 Tah! (22 :
XA
OP|_
O

(A) C B) 7

(C) S (D) O

124, FoE TaetEiTs, 2iem qib! 1ifa @5 forecs oo 5 | o2 o st escais e
(?) 0 204 :

e
OS]
il

(A) O B) 7

(C) (D) O
124. AT T S AT 999 99 $RAET | 9 99 99 ¢ 19 FemEmmEn 91 S E ?

A
e
i

(A) O B) 7

)

(€) (D) O
EE
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124, 9 fgu U fo= 4, 7=l o1 Hwdl b (39 &1 gt 2 | 999 &% 51gan, ‘77 % fag
T B —

X

75

)

S

=

<&

<

—
?

(A) <>

(C) o/

B) 7\

(D) O

124. In the figure below, the first two rows indicate a rule. According to the rule,

the replacement for “?

X

75

N\

=)

=

<&

<

o <O

(C)

B) 7\

(D) O

125. TF#0 ; S20G (S - (W[IEH : ?

(A) @R

(C) @z

125. =69 : Tare

(A) € eoE

(C) i

SLRC-2022/P-II/B
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125. oa7 : e - 99 e

(A) =R (B) UgrEE

(C) wH (D) T9g
125, 12 ; faers ;: Am@mEa : 7

(A) =IER (B) TgEs

(C) T (D) ™

125. Laptop : Windows :: Mobile : ?
(A) Play Store (B) Android
(C) Apps (D) Games

126. TTS (72ea WfE afaE @ == 2vz 36 R @S RS @41 AT AW e 791 =,
(o0 (P2 B (i 4—0e CAEt I 2

(A) : (B)

©) : D)

126. % 202 Q34 BIEC 0 (TG | T3E]

G NS FTE @21 SRR ©F T = T (@ 2wt w2

(A) : (B)

©) D)

EE
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126. ST&A1 TTEAE 2FTE RgIT3 THE1 T8 TTSIRA THT (9A3@ 1 B-FIE] B/ 61 YArear {531 @1
g Tl JAFH 7

(A) : (B)

©) D)

126. fe@Tu 7T et 3 A1y s T Vi 1 THEeR W1 % 9 ded W R o oty faETs o 7

4 : ®)

© ©)

126. Which image would appear when a transparent sheet with the pattern as

shown

is folded along the dotted line ?

A) : (B)

©) D)

OF10]
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127. 2w U lTBNET R PR CFTS €512 WFTHR AT - 2ol 5ioa T ?

N
- gp 0 gp

127. TR T3 (Eeit Ot S+itaq nofe afefEaw 2

N
- gp 0 P

127, ™A 99 STEATTTEE T fsamm=am g 91 ?

N
o gp 0 gp

127. 37T 1 3§ 14 91 Uh g8l 1 gv A T8 2 7

N
- gp 0 P

127. Which one of the figure pairs is NOT the mirror image of each other ?

&
- gp » gp

mgm
“jm'
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128. &7s Tan® (20! faes TNz wite ?

(A) 13 (B) 5
C) 7 D) 10
128. TaGrs &b R fqes =ie ?

(A) 13 B) 5

C) 7 (D) 10
128. FETTEE a8 ARG € ?

(A) 13 (B) 5

C) 7 (D) 10
128. TG A fhaa & 7

(A) 13 B) 5

C) 7 (D) 10

128. How many triangles are there in the figure ?

(A) 13 B) 5
C) 7 (D) 10
o0
SLRC-2022/P-1I/B 87 %ﬁi P.T.O.



129. @b FgEHa 75! 70 7R C20Z |

e fefoib! fam ot FfT = fo = favidre v (3251 fam =itz 2
A) = B) =2

(C) #[ (D) 9%

129. €32 2(FF 96 GZA e ZAl

o= 1% 213l Seba fa-are Oee G 97 =1tz 2

A) = B) 7=

(C) “m D) <4<
129. 7T S5-I A T8 AEH

AHAYTH T2 TTHT ARG 174 3T 9T Ag 13 1e A fa<r e ?

(A) T B) =
(C) =1 D) =
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129. T & g % <l €1 1¢UTT 3

129.

i fagatt =11 3@ % famiia 3@ mfFafag 2 ¢
A) B B) &
(C) == (D) @

The two appearances of the same Die are given

How many dots are there on the face opposite to the face with three dots ?
(A) Six (B) Two
(C) Five (D) One

130.

130.

2 TN AW TN I R SRS S =, (% TN e S 29

OROsthI=)

(A) 1423 (B) 2134
(C) 4123 (D) 2143
il

O RO TIT=)

TARTET NI I AR A R ©F TN 2

(A) 1423 (B) 2134

(C) 4123 (D) 2143

OF10]
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130. Jfg

(O O

AFITHRRE ] THaR AT 3ArTH1 FREAFE qMed A=A FE1, AT BT T

BRATFAT BFTH 7

(A) 1423 (B) 2134

(C) 4123 (D) 2143
130. ¢ ATHe

OROuhI=

1 31 TG g8 YT H SFaierd fohan Sran 8, 915 2T —

(A) 1423 (B) 2134
(C) 4123 (D) 2143

130. If the figures

(O O

are arranged in their increasing number of sides, then the sequence would be

(A) 1423 (B) 2134

(C) 4123 (D) 2143

EE
SLRC-2022/P-1I/B 90 25



131. T TR <5i2 My *e=ea $ T=0! efozi«m F «(f<T ?
(2, 3), (4, 5), (6, 7), 3, (10, 13)
(A) (8, 11) B) 8.9
©) (7.9 D) (7, 11)
131. TR =21 (ETD $ 9 “If5ee 7 2
(2,3),4,5),(6,7), %, (10, 13)
(A) (8,11) B) (8.9
(©) (7,8 D) (7. 11)
131. = 3701 TR $ o] A ?
(2,3),4,5),(6,7), %, (10, 13)
(A) (8,11) B) 8.9

©) (7.9 D) (7, 11)

131. g FHIHHE 9 IE F1 S F ™»HE T afaiE s aia ¢

2, 3), (4, 5), (6, 7), $. (10, 13)
(A) (8, 11) B) (8,9
(C) (7.8) D) (7, 11)
131. Which pair of numbers should replace $ in
2, 3), (4, 5), (6, 7), $, (10, 13) ?
(A) (8, 11) B) (8,9

©) (7.9) D) (7, 11)

OF10]
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132, W@ SEEFNS (FRG! 7R S ?
(3,7, 15, 33, 63)
(A) 33 B) 15
) 7 (D) 63
132, o703 @0 SRy ™ 0 (FHIb o ?
(3,7, 15, 33, 63)
(A) 33 B) 15
) 7 (D) 63
132. (3, 7, 15, 33, 63) ATNITE YHME 9 A TS T5T 7
(A) 33 B) 15
© 7 D) 63
132. frfafga # G == & 9@ 3197 (3, 7, 15, 33, 63) A9 612 7
(A) 33 ®) 15
© 7 (D) 63
132. Which of the following numbers 1s not correct in the sequence (3, 7, 15, 33,
63) ?
(A) 33 (B) 15
C) 7 (D) 63
133. ToM9ICAST B R SR SREIRT “(f2d1, &, (71129, IR ST M SFRL5 < JEFE (I,
ARy, “fferS, P SF T *FTF2HE S R | (SIS IS (FIeT! e 1 o
iz #Isl, (or% (o8 (2012w [ fapifa 2
(A) TR (B) I
(C) W’ D) &=
133. TAMSIFTTST AR SR SeERT “ff2dl, &8, e, Ao QR WFH HEEE IeFw

ST, TSP, S, SRER @) T @R | A7 R iR i e 9rf SR
= O TR TIRE ?

(A) =l (B) <M
(C) e (D) ==

EE
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133. THTevE AR 9199 94, T84, 2, 91, 91 AR 3RGT ACEBRET B T3 =T
91, 9R, §89, 3@ HAW ¢ | I I™ AAGT TS 37E gETEaAl IR 998 E §
TTETEATE A1, 931 o4 SE™E G0 H ?

(A) =/ (B) 3m@i
(C) =m D) ¢

133. TTFITeTS 31 SITHE HTIT % HTAR T, Jc1, T, AG 3R ATHET 6 I6g FHA: THEl, I,
Tell, ST 3R A & | SR TS ¢ 3R F&1 ATH 81 A1, 91 78 741 AR 2
(A) ThTa (B) AR
(C) =3 (D) ==

133. As per the local language of Gogaland, the words for earth, water, light, air
and sky are the light, air, earth, sky and water respectively. If one visits

Gogaland and gets thirsty there, what would he ask for ?
(A) Laght (B) Sky
(C) Aiar (D) Water

134. 734 AR GG I S 2
(A) TIE: AT (B) T : T

(C) =¥ : ST D) siEE: =

134, 703 el (SuielE (@FHh Swmea S Ee ?
(A) T :TT (B) TF9: FIEALA
(C) IEl: e[ (D) T4 : @7
134. 59 AT ST FME ?
(A) TE:gEaE (B) &1 FArTTA
(C) TTE: T TA (D) ™1 TE

==
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134, frfafga @ @ %M a1 JH Teid gared & ?
(A) Tafean: gmen (B) F1: et (FTEI)
(C) =TeT: geam (D) H3¥L: Hlg

134. Which of the following pairs 1s incorrectly matched ?
(A) Birds: Nest (B) Dogs : Kennel
(C) Horse : Stable (D) Pigs:Den

i) o

135. F#4® %@ WSRApE FIE “ae! 2 < wiieq 764 ?

ACRA, BDSB, CETC, DFUD., ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
135. (EAIGIE 15T FACS AT B A 2

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
135, TTEMEMH FI1E | @REETE Y] HIRHATE 91 F AF1H ?

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
135. @1 IR WG = (o0 37 F#41 A =ATET ?

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
135. What should come next to continue the series :

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
EE
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